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General Ability

Section Id : 753229335

Section Number : 1

Section type : Online
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Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1

Sub-Section Id : 753229404

Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 7532296474 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the letter-cluster from among the given options that can replace the question mark (?) in the following series.

JPNT, KSLP, LVIL, MYHH, ?
Options :

1. * LBJL

2. ¥ NBFD

3. % LIBL

4. % NVID

Question Number : 1 Question Id : 7532296474 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

fqu U fasmedt & @ 39 31eR-TT=s & 9T St Fafafad g # usares g (2) &1 R d 96 gl




JPNT, KSLP, LVJL, MYHH,?
Options :

1. # LBJL

2. ¥ NBFD

3. % LJBL

4. # NVID

Question Number : 2 Question Id : 7532296475 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Identify the term that does NOT belong to the following series.

GOLD, NUGZ, UABV, BGWQ, IMRN, PSMJ
Options :

1. ¥ UABV

2. % IMRN

3. % PSMJ

4. ¥ BGWQ

Question Number : 2 Question Id : 7532296475 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

I UE BT UgaH DY Sl (gfaRad 4@ & Jaifdd 181 5|

GOLD, NUGZ, UABV, BGWQ, IMRN, PSMJ
Options :

1. ¥ UABV

2. % IMRN

3. % PSMJ

4. ¥ BGWQ

Question Number : 3 Question Id : 7532296476 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Four words have been given, out of which three are alike in some manner and one is different. Select the word that is different.



Options :

1. ¥ Rational
2. ¥ Insane
3. # Logical
4. # Prudent

Question Number : 3 Question Id : 7532296476 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

IR Weg U MU &, 5 @ o foradt-A-forddt =0 8 U S § 3R T 31a7 8 | S eg T TG B off G-I & AT B
Options :

1. % gHaiTd (Rational)

2. ¢ A& (Insane)

3. % qifhp (Logical)

4. % fadop! (Prudent)

Question Number : 4 Question Id : 7532296477 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that is related to the third term in the same way as the second term is related to the first term.

DRINK : RDPKN :: TRAIN : ?
Options :

1. ¥ RTHNI

2. ¥ TRHNI

3. % RTTNI

4. % RTNTI

Question Number : 4 Question Id : 7532296477 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

39 febed o1 98- &Y o R U ¥ I UbR Jeifdid 8, S gO-1 U< Ugd Ue J Iafid 3|

DRINK : RDPKN :: TRAIN : ?



Options :

1. ¥ RTHNI
2. % TRHNI
3. % RTTNI
4. % RTNTI

Question Number : 5 Question Id : 7532296478 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that is related to the third word in the same way as the second word is related to the first word.

Frogs : Croak :: Mice : ?
Options :

1. # Chirp

2. % Grunt

3. ¥ Squeak

4. ¥ Scream

Question Number : 5 Question Id : 7532296478 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
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m:m::aj’:?

Options :

1. % HeRd (IY)

2. % YIRMA (IT)

3. ¢ {hihdHI (WDid)
4. % pAT1 (BHIH)

Question Number : 6 Question Id : 7532296479 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
In a certain code language, ‘THINK" is written as ‘NHKTI’. How will “‘WHITE’ be written in that language?



Options :

1. ¥ TEHWI
2. % EWIHT
3. % ETIHW
4. ¥ THEWI

Question Number : 6 Question Id : 7532296479 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

T (YT G TS, 'THINK' 1 'NHK TI' foraT STl § | ST YT & 'WHITE' &1 b forar s
Options :

1. ¥ TEHWI

2. ¥ EWIHT

3. % ETIHW

4. ¥ THEWI

Question Number : 7 Question Id : 7532296480 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language, ‘SMART’ is coded as ‘64’.How will ‘FRAME’ be coded in that language?
Options :

1. % 108

2. % 180

3. % 148

4.9 184

Question Number : 7 Question Id : 7532296480 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

T YT G WIS H, 'SMART' &1 '64' fora1 STTaT 81 3 e U & FRAME' &1 &by forar S
Options :

1. * 108

2. % 180

3. % 148



4.9 184

Question Number : 8 Question Id : 7532296481 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a family, Chitra is the daughter of Tanuja’s father’s only brother Ojha. Mohan is the only son of Brijesh and the brother of Tanuja. Priya is the sister of
Ojha. Nilu is the mother of Chitra.

Who is the sister of Brijesh?
Options :

1. % Chitra

2. % Nilu

3. ¥ Priya

4. % Tanuja

Question Number : 8 Question Id : 7532296481 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. % o

2. % Hiq.
3.« foa

4. % TN

Question Number : 9 Question Id : 7532296482 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

(i) Alok, Bidan, Chaitu, Divija, Emiya, Falgun and Giri are sitting around a circle, facing the centre.
(i1) Giri is second to the left of Chaitu, who is to the immediate left of Falgun.

(iii) Alok is third to the left of Emiya.

(iv) Bidan is between Divija and Emiya.



Which of the following options has the middle person sitting between the remaining two?
Options :

1. ¥ Falgun, Chaitu, Emiya

2. % Emiya, Falgun, Bidan

3. ¥ Divija, Emiya, Bidan

4. ¥ Giri, Divija, Bidan

Question Number : 9 Question Id : 7532296482 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % WAL, I, T

2. % Ui, BIe, fagm

3. % fefaen, uftan, foem

4. ¢ TR, fafast, faem

Question Number : 10 Question Id : 7532296483 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Read the given statements and conclusions carefully. Assuming that the information given in the statements is true, even if it appears to be at variance with
commonly known facts, decide which of the given conclusions logically follow(s) from the statements.

Statements:
A housewife is a woman.
An anchor is a housewife.

Conclusions:
I. All anchors are women.
II. Some women are anchors.



Options :

1. ¥ Both conclusions I and II follow
2. ¥ Either conclusion I or II follows
3. ®# Only conclusion I follows

4. % Only conclusion II follows

Question Number : 10 Question Id : 7532296483 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % T9pY 1 3R 11 ST SRR Rl |
2. % T fASHS 1 37 11 SR Rl g |
3. % PHad FHY [ IRV HRAT ¢ |
4.« Had FTHY 11 3T IR g |

Question Number : 11 Question Id : 7532296484 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Read the given statements and conclusions carefully. Assuming that the information given in the statements is true, even if it appears to be at variance with
commonly known facts, decide which of the given conclusions logically follow(s) from the statements.

Statements:

All cots are frogs.
No frog is a truck.
All pictures are cots.



Conclusions:
I. Some trucks are cots.
II. No picture is a truck.

Options :

1. % Only conclusion I follows

2. % Only conclusion II follows

3. % Either conclusion I or II follows

4. ¥ Neither conclusionInorlIfollows

Question Number : 11 Question Id : 7532296484 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % Had (5HY [ SR HRAT 5 |

2. ¢ Had sy 11 TR0 HRAT ]|

3. % I Al FISHY 137 11 SIIER0 el g |

4. % A FTSHY 1 3R TG 11 3IERI IR 5|

Question Number : 12 Question Id : 7532296485 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which two signs should be interchanged in the following equation to make it correct?

100+273 x7-16+8=11
Options :



1. ¥ xand —
2. % +and +
3. % +and -
4. % x and +

Question Number : 12 Question Id : 7532296485 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafeRad THIHR &l T TR & foiT foh- &l gl &1 3mug § dear o1 e q?

100 +273 x7—-16+8=11
Options :

1. % x 3R -

2. % £ 3R+

3. % + 3R -
4_«'./><3ﬁ'{+

Question Number : 13 Question Id : 7532296486 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the number from among the given options that can replace the question mark (?) in the following series.

23,54, 81,117,137, 182, 191, ?
Options :
1. % 294
2. % 254
3.9 249
4. % 245

Question Number : 13 Question Id : 7532296486 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. # 294
2. % 254
3.9 249
4. % 245

Question Number : 14 Question Id : 7532296487 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the Venn diagram that best illustrates the relationship between the following classes.

Architects, Graduates, Men
Options :

&
3.%.3.
4'23.



Question Number : 14 Question Id : 7532296487 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
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AP}, Hlddh, Y2y
Options :

© 0B ®E

Question Number : 15 Question Id : 7532296488 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Manojna travels 18 km westwards to reach a fasttrack shop, and then turns left and travels 10 km to reach a medical hall, and further turns left and travels
30 km to reach the office. How far is Manojna now from the starting point?

Options :
1. ® \E km



2 :%3 '\'Ilﬁkm
3 2V6lkm

4 % 2V63km

Question Number : 15 Question Id : 7532296488 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1 % V61 km

2 w \'IIE km

3 « 2V61km

4 % 2v63km

Question Number : 16 Question Id : 7532296489 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Suvida walked 32 m towards the south to reach the library, and then took a left turn and walked 52 m to reach the ground. Again, she took a left turn and
walked 32 m to reach the supermarket. Finally, she turned to her right and walked 18 m and stopped. How far and in which direction is Suvida from the
starting point?

Options :

1. ® 45 m, South

2. % 50 m, West

3. % 70 m, East



4. ® 32 m, North

Question Number : 16 Question Id : 7532296489 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 45 m, gl

2. % 50 m, Uf3H

3.4 70m, 04

4. % 32 m, 3T

Question Number : 17 Question Id : 7532296490 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that is related to figure C in the same way as figure B is related to figure A.

. %
. >] = | . >
S [E[@] [
A B C D
Options :
r/ :
1. %




€ »
€%

Question Number : 17 Question Id : 7532296490 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
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A B C D
Options :

-w

€ >
€ b

2. 8




>

4.

Question Number : 18 Question Id : 7532296491 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the figure from among the given options that can replace the question mark (?) in the following series.

"o

Options :

X

ks
e
X




Question Number : 18 Question Id : 7532296491 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

3T e fawmedl § & 39 oehfa &1 99+ B Sl FgfaRad o & uy 7Kg (2) 1T RIFA & 9o 6|

Options :
'~.
1. ®
2. % —
3. %
X
4.

Question Number : 19 Question Id : 7532296492 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the correct mirror image of the given combination when the mirror is placed at 'PQ' as shown.



P

HOSPITAL
Q ¢

Options :

. # HOZBILVT
, s« JATId2OH
;v JATI920H

4.« HOZPILVTI

Question Number : 19 Question Id : 7532296492 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical
Correct Marks : 1 Wrong Marks : 0.25

fau 7T TGOt &1 et gUur Bfa &1 T &Y, 9 U Bl 'PQ TR A AT SIHR 3@/ TR B
P

HOSPITAL
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Options :

1.« HOZBILVT
> % JATId20H
s v JATI920H

4% HORPILVT

Question Number : 20 Question Id : 7532296493 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical



Correct Marks : 1 Wrong Marks : 0.25

The sequence of folding a piece of paper and the manner in which the folded paper has been cut is shown in the following figures. How would this paper
look when unfolded?
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Question Number : 20 Question Id : 7532296493 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

General Awareness

Group Number : 2
Group Id : 753229336
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No

Break time : 0



Group Marks : 20
Is this Group for Examiner? : No

General Awareness

Section Id : 753229336
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 753229405
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 7532296494 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Human blood proteins are most similar to those of the  among all apes.
Options :

1. * siamang

2. % chimpanzee

3. % gorilla

4. % gibbon

Question Number : 21 Question Id : 7532296494 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

A4 Yad M I+ oY (@ R) geifaal &, Faifties fg St @R) & Iad Ui & 99 82
Options :

1. % R

2. v Teieht



3, % TR
4. % R

Question Number : 22 Question Id : 7532296495 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
I nanometre (nm) = metres (m).
Options :

1. % 10°

2. % 106

3. % 10

4.4 107

Question Number : 22 Question Id : 7532296495 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
1R (im) = Hex (m).
Options :

1. % 10°

2. % 106

3. % 106

4.4 107

Question Number : 23 Question Id : 7532296496 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

As per the National Urban Sanitation Policy, a ¢ > city is one that scores points less than 33 and is on the brink of public health and environmental
emergency thereby needing immediate remedial action.

Options :
1. #* black
2. ¥ blue
3. % green
4. ¥ red



Question Number : 23 Question Id : 7532296496 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
e WSl A P SR, 33 F HH 3fF M HA ATAIER ' ', 3R I8 Wraoleh Wy 3R YaTaR0N TUTThTd & HIR IR TSI
g, foTe TP el STIRTES HRATS B SIRIHT & |
Options :
1. % &I (P
2. % &g (i
3. % U (&)
4. ¥ T8 (19

Question Number : 24 Question Id : 7532296497 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Peak XV in the Himalayas was renamed  in 1865.
Options :

1. # K2

2. ¥ Mount Everest

3. ¥ Kanchenjunga

4. % Nanda Devi

Question Number : 24 Question Id : 7532296497 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

1865 W RATT o XV RRR 1AM §eadR & g1 |
Options :

1. % K2

2. ¢ HI3C TaRe

3. % Hooi

4. % Frdt

Question Number : 25 Question Id : 7532296498 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical



Correct Marks : 1 Wrong Marks : 0.25

The Supa dam is built across the river  in Karnataka.
Options :

1. # Sharavathy

2. ¥ Kalinadi

3. ¥ Hemavathy

4. % Krishna

Question Number : 25 Question Id : 7532296498 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
gy eace s FdwRAHdF
Options :

1. % TREdl

2. ¥ BTG

3. % gHAd!

4. % pu

Question Number : 26 Question Id : 7532296499 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following Varnas was supposed to teach the Vedas in ancient India as per rules laid down by the Dharmasutras and Dharmashastras?
Options :

1. ¥ Shudra

2. ¥ Brahmana

3. % Vaishya

4. # Kshatriya

Question Number : 26 Question Id : 7532296499 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
SR SR et gRT i Fomt & SFER = yRa & fafofad 3 3§ oy auf &1 o 9t &t fRien gem Har am

Options :
L * 35



2.« STEI0l
3. % JRg
4. % gAY

Question Number : 27 Question Id : 7532296500 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Lord Mountbatten replaced Lord Wavell as Viceroy of India in the year .
Options :

1. #1945

2. % 1946

3. ¥ 1947

4. % 1948

Question Number : 27 Question Id : 7532296500 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

A AdedeaAad W YR & aRRIG & ¥U H dls 399 o1 5118 o ot
Options :

1. #1945

2. % 1946

3. ¥ 1947

4, % 1948

Question Number : 28 Question Id : 7532296501 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Medieval Muslim traveller Ibn Battuta authored the famous travel book
Options :

1. ¥ Padshah Namah

2. % Zafar Namah

3. ¥ Rihla (Rihlah)

4. % Khamas



Question Number : 28 Question Id : 7532296501 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

DI RAH IE 3 Sl A RIS AT glid T i T bt A
Options :

1. % UlqRg I

2. % S[BI AMHI

3. ¢ Rean

4. % GHY

Question Number : 29 Question Id : 7532296502 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Womesh Chandra Bonnerjee presided over the session of the Indian National Congress held in Bombay in 1885 and at Allahabad in .
Options :

1. * 1886

2.9 1892

3. % 1893

4. % 1906

Question Number : 29 Question Id : 7532296502 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

g TE T A 18gs TR A R ad semerane & SR URd T S 3 SR @ sremerr it
Options :

1. ® 1886

2.9 1892

3. % 1893

4. % 1906

Question Number : 30 Question Id : 7532296503 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25



Who among the following persons was sworn in as Chief Minister of Punjab in September 20217
Options :

1. # Sukhbir Singh Badal

2. ¥ Charanjit Singh Channi

3. ¥ Amarinder Singh

4. # Sadhu Singh

Question Number : 30 Question Id : 7532296503 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafaRad cafadal & 9 foe RideR 2021 T U919 & THA & U 8 [0Y T80 i 57
Options :

1. % @R g dea

2. ¢ TRUMId g ==t

3. % smReR Rig

4. % 41y g

Question Number : 31 Question Id : 7532296504 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

In October 2021, National Mission for Clean Ganga (NMCG) declared comic book character  as the mascot of the Namami Gange Programme.
Options :

1. ¥ Chacha Chaudhary

2. % Shaktimaan

3. % Bahadur

4. * Suppandi

Question Number : 31 Question Id : 7532296504 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
3feFgaR 2021 H, W TN & ferg AP fAI=M (NMCG) H ST Fifgd & URTe IRka &1 FHITH T SHRIHH BT YHHR O fobar T 3|
Options :

1.« T ey



2. % fgaa™

3. % §EIg
4. % WS}

Question Number : 32 Question Id : 7532296505 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Section of the Indian Penal Code deals with punishment of offences committed beyond, but which by law may be tried within, India.
Options :

1.#9

2. %90

3. % 30

4. 43

Question Number : 32 Question Id : 7532296505 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR & HigdT &1 v ¢RT H HRGIT THHT & S1eR fobT T SfuRTeft, o o IR fafty g1 wRa # Sifviier foan 5 w1 5, & few ds &1
wrayT faan T 52

Options :

1.%9

2. %90

3. % 30

4.9 3

Question Number : 33 Question Id : 7532296506 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Rajendra Prasad was NOT the Chairman of the ~ of the Constituent Assembly of India.
Options :

1. ¥ Committee on the Rules of Procedure

2. # Steering Committee

3. ¥ States Committee

4. ¥ Finance and Staff Committee



Question Number : 33 Question Id : 7532296506 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

oG UG YR B WAUF U BT P e el U
Options :

1. % Hrdyune fafou afafa @ o © T i URiioR)
2. % Hre giAfd

3. ¢ Y HiHfd

4. % fa< SR AR IR

Question Number : 34 Question Id : 7532296507 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is a famous music of Sikkim?
Options :

1. * Gondhal

2. # Panihari

3. % Ka KuKu

4. # Maand

Question Number : 34 Question Id : 7532296507 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

i & @ o a1 Rifesd &1 ulg difid 22
Options :

1. % TS

2. % TiUERY

3.V BIDD

4. % Ois

Question Number : 35 Question Id : 7532296508 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical



Correct Marks : 1 Wrong Marks : 0.25

Narayanrao Rajhans, the master of Natya Sangeet, is popularly known as:
Options :

1. ¥ Bal Nartak

2. % Bal Tansen

3. ¥ Bal Natraj

4. ¥ Bal Gandharva

Question Number : 35 Question Id : 7532296508 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

red Tiffd ¥ TRIIURTG ISTed fhd T SR A8 § 1} Al it g
Options :

1. % 91 Addb

2. % S A

R INE S|

4. ¢ 91 Tiyd

Question Number : 36 Question Id : 7532296509 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Pradhan Mantri Jeevan Jyoti Bima Yojana (PMJJIBY) was introduced nationally on:
Options :

1. #¥ 14 November 2011

2. ¥ 5 March 2014

3. ¥ 10 March 2016

4. ¥ 9 May 2015

Question Number : 36 Question Id : 7532296509 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

FUTHAT St S SH1 AISHT (PMIIBY) Hd AP TR W R B 157
Options :

1. % 14 TdeR 2011



2. % 572014
3. % 10 A 2016
4. % 9TS 2015

Question Number : 37 Question Id : 7532296510 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the correct formula for calculating currency deposit ratio (CDR)?
Options :

1. ¥ CDR=CU-DD

2. # CDR =DD/CU

3. ¥ CDR = CU/DD

4. % CDR=CU+DD

Question Number : 37 Question Id : 7532296510 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ta1/HYT STHT 30T (CDR) &1 gt GHIB0T o1 82
Options :

1. #¥ CDR=CU-DD

2. % CDR =DD/CU

3. ¥ CDR = CU/DD

4. % CDR=CU+DD

Question Number : 38 Question Id : 7532296511 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

The 2028 Olympics are scheduled to be held at
Options :

1. ® Paris

2. % Hong Kong

3. ¥ Los Angeles

4. ® Japan



Question Number : 38 Question Id : 7532296511 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

2028 & 3D BT SRS FafaRad & 3 et fasan o Fefid g2
Options :

1. % Ui

2. % BTG

3. ¢ A Tl

4. % Y4

Question Number : 39 Question Id : 7532296512 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which year was the Commonwealth Youth Games conducted for the first time?
Options :

1. ¥ 2000

2. % 2010

3. % 2007

4. % 2004

Question Number : 39 Question Id : 7532296512 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

UgHl! SR APHS g1 Well 1 SHrIeH Fafarad & 9 forw auf # fasar mar ar
Options :

1. ¥ 2000

2. % 2010

3. % 2007

4. % 2004

Question Number : 40 Question Id : 7532296513 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25



Snatch and clean' is a technique of which sport?
Options :

1. ®# Boxing

2. ¥ Weightlifting

3. #% Basketball

4. % Kabbadi

Question Number : 40 Question Id : 7532296513 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

ET TS A da-ieh o1 JanT Faferad & 9 fovd wat # fosar e g2
Options :

1. % TopaTslt

2. ¢ YR

3. % SRl

4. % Hagl
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Sub-Section Number : 1
Sub-Section Id : 753229406
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 7532296514 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Simplify the expression:

bt

Question Number : 41 Question Id : 7532296514 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical



Correct Marks : 1 Wrong Marks : 0.25

SIS W TP I

Options :
105
1. ®¥ 3

273
5 % 241

96
4.« 67

Question Number : 42 Question Id : 7532296515 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
The sum and difference of LCM and HCF of the two numbers is 99 and 81, respectively. If the sum of the two numbers

is 63, then find the numbers.
Options :

| % 44. 20

) 45, 18

3 % 43,21



4 % 48,15

Question Number : 42 Question Id : 7532296515 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

ar T3 % LCM (Fgead FATISH) AR HCF (Fgead FATEc) & 49T 3 3 FAT 99 3K 81
g1 IfE 3y FEst F AT 63 §, a gEEe A9 fifew)

Options :

| % 44, 20

, o 45, 18
5 % 43, 21

, % 48, 15

Question Number : 43 Question Id : 7532296516 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Simplify the expression

2+6+1x8+2+2
Options :
. % 9

) #® 26

3 % 30



4.¢ 13

Question Number : 43 Question Id : 7532296516 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

SF H TLEFT ST

42+6+1x8=-2+2
Options :
L% 9

% 26
3 % 30

4. v 13

Question Number : 44 Question Id : 7532296517 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the value of k such that the 6-digit number 5079k2 is divisible by 24.
Options :

1.% 5

2. % 4

het
i’&
bd



Question Number : 44 Question Id : 7532296517 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
k &7 Al S5 YR AT ST & 6-3" Fr gE=ar 5079k2, 24 & Fsm== &7l

Options :
1. % D

2. % 4
3 ® 2

4. 1

Question Number : 45 Question Id : 7532296518 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Two numbers are 20% and 32%, respectively, more than a third number. What percentage is the second number of the

first number?
Options :

1 % 112%
7 « 110%
3 # 160%

4 % 140%

Question Number : 45 Question Id : 7532296518 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25



ar eI, v Jradt §E ¥, FEw 20% AR 32% 30w g1 gEdr Twar 9gen @Ea & fhaen stora
=7

Options :
L% 112%

5 v 110%
s % 160%
4 % 140%

Question Number : 46 Question Id : 7532296519 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

A shopkeeper bought 10 dozen eggs at the rate of 4 per egg. During transit 10 eggs were broken. He sold the remaining
eggs at the rate of Z5 per egg. Find his profit (in ).

Options :

1. % 60

) # 06
3 « 70
4 % 72

Question Number : 46 Question Id : 7532296519 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25



U gEAeN 7 24 9fd 32 Fr e ¥ 10 g7 3T W 9EEs F e 10 32 BT 0| 3ES A6 3’2
35 gfa 312 F T ¥ I 3HH 90 (2 H) FF HfAv)
Options :

1 = 60

) % 66
3. 70
4. % 12

Question Number : 47 Question Id : 7532296520 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

2
If 60% of A=1.2 OfB:E of CthenfindA:B:C

Options :
1.« 23133

w
s
b
.
e

N
b
(%)
(£
Lh

Question Number : 47 Question Id : 7532296520 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

2
afe 60% of A=1.2 0fB=E ofC, @ A : B : C T HA Fa1BT|



Options :

1L 2:1:3
)% 3:2:4
38 2:2:3
4% 3:2: 5

Question Number : 48 Question Id : 7532296521 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
An article is sold at a profit of 16%. If its cost price increases by 2100 and the selling price decreases by 240, then the

profit percentage reduces by 4%o. Find the profit per cent if both the cost price and selling price increase by Z200.
Options :
| % 14.5%

> % 13.5%

3 v 15.2%

4 % 14.62%

Question Number : 48 Question Id : 7532296521 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

T& TG F 16% F WA T I AT ¢ AT T FT HeT 2100 I S g AR BT Ao 140 FA
gl ST g, anst gfaed 4% wA g Jar g1 i F7 75 AR AT #ew g # 2200 #r giF g, ar
st &1 Siderd A HfaT|

Options :




| % 14.5%
5 % 13.5%
3 v 15.2%

4 % 14.62%

Question Number : 49 Question Id : 7532296522 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
A certain sum is lent on simple interest at 5% per annum for 3 years, at 8% per annum for next 3 years and at 10% per

annum for beyond 6 vears. If the simple interest on the sum for 10 years is 553, then find the sum (in 2).
Options :
| % 680

7« 700
3 #% 720

4. % 725

Question Number : 49 Question Id : 7532296522 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

tF ARaa ofer aremoer sor X 3 ¥ & e 5% 9fa aw, e 3 au & v 8% gfa av 3k 6 I¥
¥ o & BT 10% 9f3 a¥ & ex & 3ur & S &1 3 ¥ 9% 10 ast v Fraror s 553 B,
ar ofar (@ /) 9 #fFv)

Options :
| % 680



5« 700
s % 720

, % 725

Question Number : 50 Question Id : 7532296523 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Akhilesh divided Z1.21,725 between his two sons A and B such that when both invest their shares on 10% per annum
compound interest, the interest that A earns at the end of 3 years is equal to the interest that B earns at the end of 2
vears. Find the ratio of the share of A to the share of B.

Options :

| % 202:33]

% 7:11
3. ¢ 210: 331

4 % 20:33

Question Number : 50 Question Id : 7532296523 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

fTrerer F 39 & A A H#T B F 1 21,21,726 W WeR A & I g a9 3 10% A
THgTE U W FSw A §, A 3 FW &F 3T H A I e HiAg FLAT g, IE 3T WA & §UE gar
g S B, 299 & 3 # HSd FT g1 A F 3T FT B & 3T T Hud A HIATY

Options :




| % 202 : 331

,ox 7211
3 v 210 : 331
4 % 20 : 33

Question Number : 51 Question Id : 7532296524 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

A can do 40% of the work in 16 days and B can do 25% of the same work in 6 days. If they work together. then in how
many days will they be able to complete the work?

Options :

1% 14

2.¢ 15
3 % 16

4 % 18

Question Number : 51 Question Id : 7532296524 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

A 40% T T 16 AT & FT Tear & 3R B 36 F1H F 25%, 6 AT F W TFHar g1 I I v Ty
FT G &, A T FF F FaA B F [ F A0

Options :

1 = 14



2.« 15
3 % 16

4 % 18

Question Number : 52 Question Id : 7532296525 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
A car can cover 375 km in 6 hours. If its speed is reduced by 6.5 kmv'h, then how much time does the car take to cover a

distance of 280 km?
Options :
1. % 4h30m

> # 4h45m
3¢ 5h

4 % 5h12m

Question Number : 52 Question Id : 7532296525 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

UF FW 6 TC H 375 km F g TF FT FHhar gl Il $HH 1 6.5 km/h FH FT & AT, & FW 280
km & gff 97 == # Fhaar gHg @ 82

Options :

. 4h30m

, %« 4 h45m



3.5 h

L% 5h12m

Question Number : 53 Question Id : 7532296526 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
The average of the two-digit mumbers 23, k4, 4k and 39 is 43. Find the value of k.
Options :

1.% 5
2.4 6

3 % 7

Question Number : 53 Question Id : 7532296526 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

ar 3T & FEarHt 23, kd, 4k 3R 39 & HEa 43 Bl k T @9 AT Saw]
Options :
| % B



Question Number : 54 Question Id : 7532296527 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

A customer paid 5,184 for an item marked at 7,200 after availing 10% and k% discounts. Find the value of k.
Options :

1. % 18

) # 16

Question Number : 54 Question Id : 7532296527 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

UF TEF o 10% IR k% T 9ead N & a1 37,200 3HHd U 98] & o7 25,184 & sperar famam

k &1 AT A FiaC]
Options :
| % 18

) = 16
3« 20

4 % 24

Question Number : 55 Question Id : 7532296528 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25



If the diagonal of a square is 7 cm, then its perimeter (in cm) is:
Options :

1% 28V5
145

3. v 142

4 % 28V2

Question Number : 55 Question Id : 7532296528 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

ofE T T F T 7 cm B, O 3HET IAN (em H) &
Options :

e 2805

2. % 14V5

3. v 142

4 % 28V2

Question Number : 56 Question Id : 7532296529 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25



The diagonal of a rectangular field of length 12 m is 13 m and the side of a square field is 7.5 m. The perimeter of
another square field is equal to the sum of the perimeters of the rectangle and the square. Find the cost of levelling the
ground of the larger square at the rate of 225 per sq. m.

Options :

| % 26,250

5 v 76,400
3 % %6380

4 % 26,480

Question Number : 56 Question Id : 7532296529 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

12 m ¥&T$ A U6 AR Je & ol 13 m § 3R v F#eR #ae #1 5=1 7.5 m 8l
3T TR HET T INAT A0 AT T & AT F AT F Wl ¢l 325 I sq mFrex @ =2
T Fr FHF Fr THEIA WA F TS AT HIAT

Options :
| » 26,250

, o 76,400
, » 26,380

.« 76,480

Question Number : 57 Question Id : 7532296530 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical



Correct Marks : 1 Wrong Marks : 0.25
The cost of canvas required to make a conical tent of base radius 3.5 m at the rate of 220 per sq. m is 2.750. Find the

height of the tent. (o2

Options :
1. % 105m

7 & 12 m
3 % 11.8m
4 % 15m

Question Number : 57 Question Id : 7532296530 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

3.5 m 3TUR =2 AT T UFEHR a7 220 9 sq. m #Y & F FAA & AT HeAarg H e

32,750 g1 9F9 & FU® AA hiSw(, _2)
|

52 ;I‘:T,u}

Options :
| % 105 m

2 W 12 m
;% 11.8 m

Question Number : 58 Question Id : 7532296531 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical



Correct Marks : 1 Wrong Marks : 0.25
The data in the given table shows the hour-wise distance covered by Amit on a day on his bike from 9 am to 2 pm. How

many kilometres did he ride before 12 noon?

Time 9am-10am |10 am-11 am (11 am-12 noon | 12 noon-1 pm| 1 pm-2 pm

Distance (1in km) 40 32 42 0 38

Options :
1 ® 42

) o 114
3 0% 74

4 % 38

Question Number : 58 Question Id : 7532296531 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

& 5 anforeT &1 38T T o H e S15% W g 9 791 W e 2 59 d% HAG gaN a7 g
TS-AR g 2T Bl GI9eX 12 9 ® 9o 38 fohaet km hr Hanr Hre

qHT S am-10 am|10 am-11 am {11 am-12 noon 12 noon-1 pm| 1 pm-2 pm
gdl ( km #) 40 3z 42 0 38
Options :

| = 42



) v 114
3 & 74

4. 38

Question Number : 59 Question Id : 7532296532 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
The following bar graph shows the number of caps (in dozen) of different colours manufactured and sold by a dealer in

a day. What per cent of the caps of two colours Red and Green have been sold?

#a

e et et et el
S b L

e O

DManufacture
Sale

Number of Caps (in dozen)

o =t - L i By h -] GO

Black Whitt Ble Red Green
Colour of Caps

ulil

Options :
1. &% 65%

2. W 60%

4. B ?5%



Question Number : 59 Question Id : 7532296532 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

AraTed IR I% U @9 # v &or garr RfAT 3R o= a2 aehr Rfees T & afar @=59 #)
& FEIT F AT g1 W, we AR g¥ T H aftrat Fv fraer giaea a9 w2

— 14

(=R E R R - R

Options :
| % B65%

5 % 60%
3 v 70%

4 % 75%

Question Number : 60 Question Id : 7532296533 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25



The pie-chart shows the subject-wise enrolment in a University in a vear. The total enrolment in the university is 7560.
If the ratio of the male students and female students in Humanities is 3 : 4, that in Commerce is 3 : 5, that in Computer
Science is 3 : 2, that in Law is 5 : 2, and that in Science is 3 : 3, then find the number of female students enrolled in all

subjects.

Science
64"

Computer
Sclence
i

Humanities
104°

Options :
1. ® 3825

5 & 3831
3 % 3838

4 % 3845

Question Number : 60 Question Id : 7532296533 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25



urg-ae v fReafagares A v a¥ 7 RvwEr amea gutar g1 Reafaeares 7 e A 7560 g
ofg AAfadr 7 qow Brat AT Afger oS # dFgAd 3 : 4 7, A0ST #3156 F Fg w7
3:2% Rr#&5:2% 3K s & 3 : 5 & o vt vt & arfera Afger ot &1 g=r 719 FfEw

Options :
| % 3825
5 v 3831
, % 3838
4 % 3845
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General English

Section Id : 753229338
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 16
Number of Questions to be attempted : 16

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 753229407
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 7532296534 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the alternative that will improve the underlined part of the given sentence. If no improvement is required, select ‘No improvement’

He was so tired that he could scarce stand.
Options :

1. * scarcely stood

2. % gscarce stood

3. ¥ scarcely stand

4. % No improvement

Question Number : 61 Question Id : 7532296534 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the alternative that will improve the underlined part of the given sentence. If no improvement is required, select ‘No improvement’

He was so tired that he could scarce stand.
Options :



1. ® scarcely stood
2. % gcarce stood
3. ¥ scarcely stand

4. * No improvement

Question Number : 62 Question Id : 7532296535 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the alternative that will improve the underlined part of the given sentence. If no improvement is required, select ‘No improvement’

The author is a Pulitzer Prize honour of his achievement in literature.
Options :

1. ¥ honouree for

2. ® honourable of

3. ® honour for

4. % No improvement

Question Number : 62 Question Id : 7532296535 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the alternative that will improve the underlined part of the given sentence. If no improvement is required, select ‘No improvement’

The author is a Pulitzer Prize honour of his achievement in literature.
Options :

1. ¥ honouree for

2. ¥ honourable of

3. # honour for

4. ¥ No improvement

Question Number : 63 Question Id : 7532296536 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

The school committee has the appointment of ten new teachers for the primary section.
Options :

1. ¥ approved



2. % appealed
3. % applied
4. % adopted

Question Number : 63 Question Id : 7532296536 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

The school committee has the appointment of ten new teachers for the primary section.
Options :

1. % approved

2. % appealed

3. % applied

4. % adopted

Question Number : 64 Question Id : 7532296537 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
The following text contains four underlined words or phrases. Choose the incorrect option.

The teacher asked Rohan to read a short poem written from William Wordsworth.
Options :

1. # asked

2. % read

3. ® written

4. ¥ from

Question Number : 64 Question Id : 7532296537 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
The following text contains four underlined words or phrases. Choose the incorrect option.

The teacher asked Rohan to read a short poem written from William Wordsworth.
Options :

1. ¥ asked

2. % read



3. ¥ written
4. ¥ from

Question Number : 65 Question Id : 7532296538 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
The following text contains four underlined words or phrases. Choose the incorrect option.

Secularism is one of the most complex term in social theory.
Options :

1. ®* one

2. ® the

3. ® most

4. ¥ term

Question Number : 65 Question Id : 7532296538 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
The following text contains four underlined words or phrases. Choose the incorrect option.

Secularism is one of the most complex term in social theory.
Options :

1. ®# one

2. ¥ the

3. % most

4. ¥ term

Question Number : 66 Question Id : 7532296539 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the most appropriate option to fill in the blanks.

I find it difficult to my work as a salesman with my studies.

Options :

1. #® level



2. % oppose
3. % balance
4. % record

Question Number : 66 Question Id : 7532296539 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the most appropriate option to fill in the blanks.

I find it difficult to my work as a salesman with my studies.
Options :

1. ¥ level

2. % oppose

3. ¥ balance

4. % record

Question Number : 67 Question Id : 7532296540 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the correct word from the options given below.

It is extremely important for you to brush up your
Options :

1. # grammere

2. % gramar

3. % grammer

4. % grammar

Question Number : 67 Question Id : 7532296540 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the correct word from the options given below.

It is extremely important for you to brush up your
Options :



1. ¥ grammere
2. % gramar
3. % grammer

4. ¥ grammar

Question Number : 68 Question Id : 7532296541 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that can best substitute the following set of words.

A sad poem or song, often on someone’s death
Options :

1. % Tragedy

2. ¥ Elegy

3. % lyric

4. ® ballad

Question Number : 68 Question Id : 7532296541 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that can best substitute the following set of words.

A sad poem or song, often on someone’s death
Options :

1. # Tragedy

2. ¥ Elegy

3. ® lyric

4. # ballad

Question Number : 69 Question Id : 7532296542 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the correctly spelt word of the following:
Options :

1. ¥ Battalion



2. % Batalion
3. % Betalion

4. % Bettalion

Question Number : 69 Question Id : 7532296542 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the correctly spelt word of the following:
Options :

1. ¥ Battalion

2. % Batalion

3. % Betalion

4. % Bettalion

Question Number : 70 Question Id : 7532296543 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the most suitable pair of words to fill in the blanks.

Madav began to his victim quietly, as she was enjoying the red rose picked from its
Options :

1. ¥ Stalk, stalk

2. % Stake, stalking

3. ¥ Stake, stalk

4. % Stalk, stalker

Question Number : 70 Question Id : 7532296543 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the most suitable pair of words to fill in the blanks.

Madav began to his victim quietly, as she was enjoying the red rose picked from its
Options :

1. ¥ Stalk, stalk

2. % Stake, stalking



3. ¥ Stake, stalk
4. % Stalk, stalker

Question Number : 71 Question Id : 7532296544 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word which is closest in meaning to the word given below:

Facetious
Options :

1. ¥ Large
2. ® Popular
3. ¥ Cute

4. ¥ Jocular

Question Number : 71 Question Id : 7532296544 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word which is closest in meaning to the word given below:

Facetious
Options :

1. # Large
2. % Popular
3. % Cute

4. ¥ Jocular

Question Number : 72 Question Id : 7532296545 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Give meaning of the following idiom:

“to go back to the drawing board”
Options :

1. # to go to school



2. ® to paint with interest
3. ¢ to start again from the beginning
4. % to study hard

Question Number : 72 Question Id : 7532296545 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Give meaning of the following idiom:

“to go back to the drawing board”
Options :

1. ¥ to go to school

2. % to paint with interest

3. ¥ to start again from the beginning
4. % to study hard

Question Number : 73 Question Id : 7532296546 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the underlined idiom in the following sentence.

I will back you up in your protest against injustice to the victim.
Options :

1. # to take revenge

2. ¥ to support

3. % to irritate someone

4. % to protest against someone

Question Number : 73 Question Id : 7532296546 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the underlined idiom in the following sentence.

I will back you up in your protest against injustice to the victim.
Options :



1. # to take revenge
2. % to support
3. ® to irritate someone

4. % to protest against someone

Question Number : 74 Question Id : 7532296547 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Parts of a sentence are given in jumbled order. Arrange the parts in the right order to form a meaningful sentence.

P. for making its reputation strong at a global level

Q. a country’s cultural heritage cannot be described by

R. which is the responsibility of every citizen

S. considering one aspect only, but all the other aspects are equally important

Options :

1. ¥ SQPR
2. ¥ QSPR
3. ¥ SQRP
4. ¥ SRPQ

Question Number : 74 Question Id : 7532296547 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Parts of a sentence are given in jumbled order. Arrange the parts in the right order to form a meaningful sentence.

P. for making its reputation strong at a global level

Q. a country’s cultural heritage cannot be described by

R. which is the responsibility of every citizen

S. considering one aspect only, but all the other aspects are equally important

Options :

1. % SQPR
2. ¥ QSPR
3. % SQRP
4. ¥ SRPQ

Question Number : 75 Question Id : 7532296548 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :



Vertical
Correct Marks : 1 Wrong Marks : 0.25
Parts of a sentence are given in jumbled order. Arrange the parts in the right order to form a meaningful sentence.

P. but in ancient times, kings and great lords were obliged to put themselves into the very front

Q. therefore, it was of great consequence that they should be strong men and dexterous in the use of weapons
R. the artillery and the soldiers shoot at enemy, and men seldom mingle and fight hand to hand

S. armed with lance and other weapons to fight like ordinary men and

Options :

1. # QRSP
2. ¥ RPSQ
3. % SQRP
4. # PQSR

Question Number : 75 Question Id : 7532296548 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Parts of a sentence are given in jumbled order. Arrange the parts in the right order to form a meaningful sentence.

P. but in ancient times, kings and great lords were obliged to put themselves into the very front

Q. therefore, it was of great consequence that they should be strong men and dexterous in the use of weapons
R. the artillery and the soldiers shoot at enemy, and men seldom mingle and fight hand to hand

S. armed with lance and other weapons to fight like ordinary men and

Options :

1. # QRSP

2. ¥ RPSQ

3. # SQRP

4. ¥ PQSR

Sub-Section Number : 2
Sub-Section Id : 753229408
Question Shuffling Allowed : Yes

Question Id : 7532296549 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions : No
Question Numbers : (76 to 80)
Read the following passage and answer the questions given after it.

Too many parents these days can’t say no. As a result, their children become greedy for materialistic goods and no amount satisfies them. Now, a growing



number of psychologists, educators and parents think it’s time to stop the madness and start teaching kids about what’s really important: values like hard
work, contentment, honesty and compassion.

The struggle to set limits has never been tougher and the stakes have never been higher. One recent study of adults who were overindulged as children,
paints a discouraging picture of their future: when given too much too soon, they grow up to be adults who have difficulty coping with life’s
disappointments. They also have distorted sense of entitlement that gets in the way of success in the work place and in relationships.

Psychologists say that parents who overindulge their kids, set them up to be more vulnerable to future anxiety and depression. Today’s parents themselves
raised on values of thrift and self- sacrifice, grew up in a culture where ‘no’ was a household word. But today’s kids always want more. Kids born in the
late 1980’s and thereafter think of iPads, iPhone, PS4’s and Smart TV as necessities. They develop strategies to nag parents until parents give in. They do
not say ‘No!’

But all experts agree: too much love won’t spoil a child. Too few limits will.

What parents need to find, is a balance between the advantages of an affluent society and the critical life lessons that come from waiting, saving and
working hard to achieve goals. That search for balance has to start early. Children need limits on their behaviour because they learn values better in a
secure, structured environment. Older children learn self-control by watching how others, especially parents act. Few parents ask kids to do chores. They
think their kids are already overburdened by social and academic pressures.

Every individual can be of service to others, and life has meaning beyond one’s own immediate happiness. That means parents eager to teach values have
to take a long, hard look at their own.

Sub questions

Question Number : 76 Question Id : 7532296550 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the key lesson of the passage?

Options :

1. ¢ That discipline and values must be imparted to children.
2. ® That children are a menace to society.

3. ® That parents today need to relax and enjoy life.

4. ¥ That children need to be sent to hostels to learn life lessons.

Question Number : 77 Question Id : 7532296551 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
What happens to children when their parents overindulge?
Options :

1. # children become dependent on their parents.



2. ¥ children’s ability to cope with real life difficulties and disappointments is lost.
3. ¥ children’s ability to manage their education reduces.

4. % children’s intelligence gets damaged

Question Number : 78 Question Id : 7532296552 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

‘it’s time to stop the madness’. What madness is being referred to here?
Options :

1. ® children’s greed for materialistic goods

2. % children’s disappointments

3. ¥ Parent's control over children

4. ¥ parent's overindulgence of children

Question Number : 79 Question Id : 7532296553 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which key values should be imparted to the children of today?

Options :

1. ¥ That the future is uncertain, and they should be prepared for contingencies.
2. % That parents will always protect and support children

3. ¥ That they shoud be compassionate , honest and hard-working.

4. % That they can always ask for anything they want from their parents

Question Number : 80 Question Id : 7532296554 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which option is closest in meaning to take a long, hard look in the context of the passage?
Options :

1. ¥ To stare at someone or something closely for a long time.

2. ¥ To examine something very carefully in order to improve it in the future.

3. ¥ To hardly look at a child when the child needs your help and support.

4. % To long for an evaluation of one’s values by a psychologist.



Question Id : 7532296549 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions : No
Question Numbers : (76 to 80)
Read the following passage and answer the questions given after it.

Too many parents these days can’t say no. As a result, their children become greedy for materialistic goods and no amount satisfies them. Now, a growing
number of psychologists, educators and parents think it’s time to stop the madness and start teaching kids about what’s really important: values like hard
work, contentment, honesty and compassion.

The struggle to set limits has never been tougher and the stakes have never been higher. One recent study of adults who were overindulged as children,
paints a discouraging picture of their future: when given too much too soon, they grow up to be adults who have difficulty coping with life’s
disappointments. They also have distorted sense of entitlement that gets in the way of success in the work place and in relationships.

Psychologists say that parents who overindulge their kids, set them up to be more vulnerable to future anxiety and depression. Today’s parents themselves
raised on values of thrift and self- sacrifice, grew up in a culture where ‘no’ was a household word. But today’s kids always want more. Kids born in the
late 1980°s and thereafter think of iPads, iPhone, PS4’s and Smart TVs as necessities. They develop strategies to nag parents until parents give in. They do
not say ‘No!’

But all experts agree: too much love won’t spoil a child. Too few limits will.

What parents need to find, is a balance between the advantages of an affluent society and the critical life lessons that come from waiting, saving and
working hard to achieve goals. That search for balance has to start early. Children need limits on their behaviour because they learn values better in a
secure, structured environment. Older children learn self-control by watching how others, especially parents act. Few parents ask kids to do chores. They
think their kids are already overburdened by social and academic pressures.

Every individual can be of service to others, and life has meaning beyond one’s own immediate happiness. That means parents eager to teach values have
to take a long, hard look at their own.

Sub questions

Question Number : 76 Question Id : 7532296550 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the key lesson of the passage?

Options :

1. ¥ That discipline and values must be imparted to children.
2. # That children are a menace to society.

3. ® That parents today need to relax and enjoy life.

4. % That children need to be sent to hostels to learn life lessons.

Question Number : 77 Question Id : 7532296551 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical



Correct Marks : 1 Wrong Marks : 0.25

What happens to children when their parents overindulge?

Options :

1. #® children become dependent on their parents.

2. ¥ children’s ability to cope with real life difficulties and disappointments is lost.
3. ¥ children’s ability to manage their education reduces.

4. % children’s intelligence gets damaged

Question Number : 78 Question Id : 7532296552 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

‘it’s time to stop the madness’. What madness is being referred to here?
Options :

1. ¥ children’s greed for materialistic goods

2. % children’s disappointments

3. ¥ Parent's control over children

4. ¥ parent's overindulgence of children

Question Number : 79 Question Id : 7532296553 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which key values should be imparted to the children of today?

Options :

1. ¥ That the future is uncertain, and they should be prepared for contingencies.
2. % That parents will always protect and support children

3. ¥ That they shoud be compassionate , honest and hard-working.

4. ¥ That they can always ask for anything they want from their parents

Question Number : 80 Question Id : 7532296554 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which option is closest in meaning to take a long, hard look in the context of the passage?
Options :

1. ® To stare at someone or something closely for a long time.

2. ¥ To examine something very carefully in order to improve it in the future.



3. % To hardly look at a child when the child needs your help and support.

4. % To long for an evaluation of one’s values by a psychologist.
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Group Maximum Duration : 0
Group Minimum Duration : 0
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Question Number : 81 Question Id : 7532296555 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
9 & ¥ DIF A1 g Jab!' UV 1 5-

Options :



1. % fgal
2.¥ 34
3. % Zlaex
4. % TEH

Question Number : 81 Question Id : 7532296555 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
9 & O B A g THI U BT 5-
Options :

1. * fgdl

2.¥ 3¢

3. % gl

4. % dqHWI®

Question Number : 82 Question Id : 7532296556 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
TR wd AT 2res g BT 31 SHH: G-
Options :

1. ¢ forurwd i

2. % gdud 9%

3. % Tg U U=

4. % UPHI TG dR

Question Number : 82 Question Id : 7532296556 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
TR Td TR Weg I BT 37 SHAEST: BHTI-
Options :

1. ¢ foRurwd i

2. % QHUddg

3. % T Td BT



4. % YDHI UG dR

Question Number : 83 Question Id : 7532296557 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

e gt & g gRIfCaT Maraddsd . Hear ]
Options :

1. % YN0

2. ¢ YUY

3. % Yo

4. % Ygd-

Question Number : 83 Question Id : 7532296557 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

e WS & Sfee gRI A T dodad _ Hearm 1
Options :

1. % yryop

2. ¢ YT

3. % YTl

4. % Yoo

Question Number : 84 Question Id : 7532296558 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

A& A A - AT WA W gFRpa g g - g A am fRm g 8 -
Options :

1. % 3fcy favmH

R S CACES

3. % Uyaras g

4. % I g

Question Number : 84 Question Id : 7532296558 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :



Vertical
Correct Marks : 1 Wrong Marks : 0.25

31191 & g & a1t - A @ i gfRpd € T ] - g A fRm g R -
Options :

1. % 3feg favmH
2. ¥ gioie g
3. % Uydrde g
4. % IGU g

Question Number : 85 Question Id : 7532296559 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

fRA R 1 =B I P T TR LS 32
Options :

1. ¢ YTeh § Te, o, HavT 3R $FR 39 &

2. % & gl PR o 82

3. % dIg | RN 1 $he?

4. % B, gD, M SR fHR aTelt UTet amefl|

Question Number : 85 Question Id : 7532296559 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

foRm g &1 =V HH W 9 Yg 72
Options :

1. ¢ YTeh & 9, T, HavT 3R 3FR 39 &

2. % o gl FRar o 82

3. % 9181 RN T HE?

4. % B, gD T 3R fHAR arett Ureh <mai|

Question Number : 86 Question Id : 7532296560 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

A Y TSI BT IR Jaferd oA & fore foog farm g o1 v foan i 2



Options :

1. % O g

2. ¢ fawpgriediys g
3. % Jarexv fug

4. % IR 5

Question Number : 86 Question Id : 7532296560 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

3T 9 ST I G WA B o o fobr farH g 1 o fopan wirer 82
Options :

1. % gl g

2. ¢ fawraTidays g

3. * IR0l g

4. % IgRulfug

Question Number : 87 Question Id : 7532296561 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
et & Tl ®IF WRA & fore fey farm frg o1 uai fan Srar g2

Options :
1. ¢ RIYRH
2. % Hobd
3. % CloRdd
4. % 3Gl

Question Number : 87 Question Id : 7532296561 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

et & arelt R WRA & o {6 favm forg &1 v fara ST 82
Options :

1. ¥ YR

2. % Hobd



3. % CloRdd
4. % 3@l

Question Number : 88 Question Id : 7532296562 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
frofofed el # 9 fad=i Tsa 6 -
Options :

1. % 9

2. % oAl

3. % &Y

4. ¢ gH

Question Number : 88 Question Id : 7532296562 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
frofofed el # ¥ fad=i s 6 -
Options :

1. % 99

2. % o3l

3. % Y

4. ¢ gH

Question Number : 89 Question Id : 7532296563 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
fafead real § ¥ RO Weg 5 -
Options :

1. % BN

2. % TR

3. % AR

4. BRI



Question Number : 89 Question Id : 7532296563 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Prgfead T 4 Q 3T T 2 -
Options :

1. % AN

2. % TR

3. % YR

4. BRI

Question Number : 90 Question Id : 7532296564 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
I 3R FRYe eal 1 g 78] 3
Options :

1. % Affg-rs

2. % HIdA-HTel

3. % 3Y-YYd

4. GHT-HTSit

Question Number : 90 Question Id : 7532296564 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
e 3R PR wreal &1 g 7 &
Options :

1. % is-urg

2. % AT

3. % 3Y-JYd

4. GRT-HTSit

Question Number : 91 Question Id : 7532296565 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25



Frea o1 gaAR Tog 8T 7
Options :

1. % SR

2. % 7Y

3. ¥ 4R

4. % qIRG

Question Number : 91 Question Id : 7532296565 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
e &1 g ¥eg TET B

Options :

1. % SdeR

2. % Ay

3. ¥ AR

4. % qIRG

Question Number : 92 Question Id : 7532296566 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraferad Wreal § § ford Wsg &1 YA Ubaa | Wi g g 2
Options :

1. % g2

2. % 31,

3. % dd

4.3

Question Number : 92 Question Id : 7532296566 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

foferiad wsal 7 9 {59 Weg &1 W Uhae- | W glar g 2

Options :

1. % g3



2. % 31
3. % §d
4. 21d

Question Number : 93 Question Id : 7532296567 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
ga B €D W HH-91 a1 IS ©-
Options :

1. % ool UHI $Ed & b Us-NY gAR A= 6|
2. % JNHA & Al g Wi g3 aHvd g

3. ¢ R ATt 31l 7iia ¥ S 3|

4. % 39 a3 & < HTH! 9¢ TS|

Question Number : 93 Question Id : 7532296567 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
IgaI B €Y W HH-I1 a1 S ©-
Options :

1. % 750l U1 Hed g [ Us-Ne gAR i §
2. % ISIHd & A g9 Wi ga axd g

3. ¢ IR ATt 311t 7iia 9 S 3|

4. % T IXI3N P S BB 9¢ TR |

Question Number : 94 Question Id : 7532296568 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

g TR T §gd 1 4 giaT df § IR &9 SRl | * ardd J DIH-3 g g2
Options :

1. % gy

2. % Iy

3. ¢ Hhard

4. % fgprd



Question Number : 94 Question Id : 7532296568 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

g BR U Sg 1 & BIl ol H TR BTH BT * a1’ H bI--1 gl &2
Options :

1. % grirary

2. % Y

3. ¢ Gohard

4. % ey

Question Number : 95 Question Id : 7532296569 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau T aret § ¥ iy areg TR B

Options :

1. % Al - &gl fob el ggl wiit|

2. % O §1d® A YR H9/1 T, 98 Udhs fordl |
3. % IR A W1 foh 3P AT BT HIs I 16! 6|
4. v R yoft fe= & v f5U xgad §

Question Number : 95 Question Id : 7532296569 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

f3u T ot § 9 iy o R |

Options :

1. % Hfelep = BT fob b gl et

2. % o9 91A% A IR {11 YT, 98 UHs [ord1 47|

3. % IR A 4T foh ISP AT BT B3 I T8l o |

4.+ R ot feq & v &0 g4 €

Sub-Section Number : 2
Sub-Section Id : 753229410
Question Shuffling Allowed : Yes




Question Id : 7532296570 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions : No
Question Numbers : (96 to 100)

TR 1 Ugh HaTdd U T IR ST

fe-fea-feA-fer e R gd Y Je o & gerad & arell 7 § | o AN 39 U 1 Ucllall § $H @ 698 6 & Ol PO 39 SHHHI AR
ToRT N 350 ¢ | S &Y, BT A OB & | e e 1 Ui §1 STl SaT e 8 9T & b ) U AT ST 71 SHuEesd v 38
| R ¥ R g aep il g uRfa &1 iR # -1 AW gy T T 7 | B W A [ay &1 Ueb URaR &1 13 § | HA sfeird, |,
ST, e-fifde, saraaiie gl Jel o1 gl e §t 81§ &0 & U=l &1 7 S8 d1dl §, JTb! Sl id Bl §, T Gagial g, fRidr @
FRAT G 3R 3T TR Ht FRAT§ | T D 2 Bl I AT §? 3D T A Aeai g

TR o &1 faaR FduyH SHETees & HIRTSh | 31T YTl 3514 @ BT il ¥ Yo YIYH T i I T § 30+ faaR Twferd fhu 3|
TH 3 I ATRGIE Wi = H 33 &3 § 3 Uai fort | 370 3% $9-56 Ihadi dl fiiel fhg IR U & YieR Tl & |

3fd H aaeiex e 9d A I 1870 W BRT fafdraq fAmtor a feran| it adf o1 3R1 571 9 A1 ST 8 | 3ResT o STy dleq AW fad A
fmfor deeh Sl & Urenea &1 TeTadl &1 | I a¥ & 31y H ot 9o A frensfemar B sroftd & ol SR I &1 SufRUfa § BR1 A HerH
foaT| g2l & snyd @1 fE®MT 7 X811 oFa & & 9yt 9a I fay & afeid g1 7T qur Guft shTg TR a1 TR SFHerd & W 9HRIE 8 @l |

Sub questions

Question Number : 96 Question Id : 7532296571 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
XU T STHGTAT DI 57

Options :

1. % gHBIeCS

2. % Arigic ©H

3. ¥ S SR TTGHId

4. % CIAY dley

Question Number : 97 Question Id : 7532296572 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
SRHTY T S T 82

Options :

1. ¥ g 1870

2. % 1872



3. % T 1873
4. % T 1874

Question Number : 98 Question Id : 7532296573 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
% ) T aRaR foea s fean &2
Options :

1. % CWAIBM & STfdshR =

2. % CAHBIH Bl e A

3. % I Bl garael

4. ¢ CHBH B gL A

Question Number : 99 Question Id : 7532296574 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
U Fafied 3 § 31 78! el 82
Options :

1. ¢ 3O ¥ fearar g |

2. % U BT T SgAI 5 |

3. % 3O B qH AT 8 |

4. % 3T BT HARSH IRAT S|

Question Number : 100 Question Id : 7532296575 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

T & oy Faifte Suged 2ive Fafifad & & a1 8 ghdr 82
Options :

1. % CWIBH & B

2. ¥ B DI STHBYT

3. % T BT Hed

4. % TTHHH BT HCRT



Question Id : 7532296570 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions : No
Question Numbers : (96 to 100)

TR 1 UG Gafdd U o1 IR ST

fe-fea-feA-fer e i gd Y Feh et & gerad & arell 7 § | o AN 39 U 1 Ycllall H B AT 698 6 & O PO Y SHHHI AP
ToRT 1 I3 51 57 &Y, BT A ABH 21 YIS ST BT IS § | M SaT B0 8 IHT § 1 o) 3101 AT AT A Srueaniasdt o <8
31 I & Ao g 7o o) g e 1 e AR AT Ry 3 T B 1 TR W 7 fay &1 U ufvaR o e 1| #7 eafdka, S,
TSTife, Fetii, araid TH Seel 31 g3l fer <l g | H &0 H SuH! BT 7 Jgadl g, ST SgHdl Xid B 5, T JAdl g, odl g2
FRAT § 3R IH] AR W SRAT | H B §2 B8l A 31T 52 SD! HUT AT Agal g

TR I &1 foaR GagYH gHgIecs & ARISh 8 ST UT| 351+ @ B a<ill I Hag YU 3 S A Jad 8 30+ faaR o g U
T 3 oD ATicie e A 39 &3 § ofd TN {hT | 37 3¢ $8-$S Thadl of 7 fhg TR T &I AHR el H UMY |

3 H 3idvie] UTeH 9 - I 1870 H BT fafdrad Fafor o= foran | St au &1 21 o9 a8 HTH1 ST ¢ | 3AReT & <Ay dicw A\ Jfad o
fafor Seeh wrf & Ureuad & Terdl ®1 | I a8 $I oY H A 99 A Trarefanar § STend o el 3R I &1 SufRfd § IR1 Ardeif-e yexi=
foaT| g=i! & Ny &1 fEHMT = X811 SFa & & 9uT 9a I fasy & afeid g1 7T qur Juft ST TR a1 TR SFHerd & W 99RIE 8 ol |

Sub questions

Question Number : 96 Question Id : 7532296571 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
TS BT ST I 82

Options :

| % gHgleeS

2. % FEGIE KA

3. ¢ ISR UTgHE

4. % CIHY dicH

Question Number : 97 Question Id : 7532296572 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
GRUTY & SIS T 62

Options :

1. ¥ H 1870

2. % {1872

3. % 41873



4. % I 1874

Question Number : 98 Question Id : 7532296573 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
fay &1 ve uRaR foram aa faam 2
Options :

1. % ST & SffIepR A

2. % THBH BT @ A

3. % T Bl garad o

4. ¢ CHBH B gL A

Question Number : 99 Question Id : 7532296574 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
YT Fgfed o 2 . e Brar g2
Options :

1. ¢ 3O ¥ fdarr 3

2. % U BT A FEAT B

3. % 3O B qET AT 5 |

4. % 3(UAT BT ARG HRAT B |

Question Number : 100 Question Id : 7532296575 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR & foT gaifie Suged <ive Fafifed § 3 o 8 gedr g2
Options :

1. % CHBH & B

2. ¢ CAIBIA BT THBYT

3. ¥ TP &I Agd

4. % THBH BT T
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Question Number : 101 Question Id : 7532296576 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following electron transitions in a hydrogen atom will require the lowest amount of energy?
Options :

1. % fromn=1ton=2

» # fromn=2ton=4



3« fromn=10ton=1

4 # fromn=3ton=35

Question Number : 101 Question Id : 7532296576 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
gssree ] # fAmfof@a & @ 5w soege S0 & R sgaas = A H ez gEf?

Options :

[« n=1&Fn=2
,x h=2&n=4
3o N=10Fn=1
s ®  N=3&n=5

Question Number : 102 Question Id : 7532296577 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25



Given the following statements regarding d-orbitals:
1. It has 4 lobes and 2 angular nodes.

2. It has 4 lobes and one angular node.

3. The orbital angular momentum of electron in this orbital is /6 h/2m.
4. It is non-degenerate.

The correct statement(s) is/are:
Options :

| % Onlyl

7 & land3

3 % 2and3

4 % land4

Question Number : 102 Question Id : 7532296577 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25



d-aw#mﬁﬁmﬁﬁﬂm%qgv%’:
1. 5@H 4 &g HR 2 FiviT A 2
2. 5OH 4 9§ iR s Huia A §

3. =7 a7 H Soeaie FT Fafr FofT 39 Ve h/2n B

4. T HIAT FEr E

T FUF (FUAY) FT TIF FL
Options :

v 13R3

3 % 2 3T 3

4% 13T 4

Question Number : 103 Question Id : 7532296578 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25



Given the following ions:

L. Mn(II)

I

. Co(III)

3. Ni(II)

4. Cu(II)

(atomic number: Mn = 25, Co=27,Ni= 28, Cu=29)

The correct sequence of the increasing order of number of unpaired electrons in the given ions is:
Options :
L% 34,21

, % 1,2,3,4

Question Number : 103 Question Id : 7532296578 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25



=g 3ma fr v &

1. Mn(ll)

2. Co(lll)

3. Ni(ll)

4. Cu(ll)

(STATO] HAH: Mn = 25, Co = 27, Ni = 28, Cu = 29)

few v amaet A 3YTAT serEEiaAl BT FEAT & ARG HH H Al HA gl

Options :
1. ® 3: 4: 2: -]

2. #® 11 2.' 3: 4
w4321

ox A2 81

Question Number : 104 Question Id : 7532296579 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following molecules is polar?
Options :

| % p-Xylene

5 « Ll.3.4-trichloro benzene



3 % Quinol

4 % Mesitylene

Question Number : 104 Question Id : 7532296579 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Frfof@a & @ wia-ar 3] g&fT g2

Options :

| % PSS
5 v 1,3,4-CT5eeiR 50
3. % ﬁ'ﬂﬁﬁr

, . afaRdw

Question Number : 105 Question Id : 7532296580 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

A solution of dry hydrogen chloride in dry methylbenzene possesses which of the following properties?
Options :

L% The pH of the solution is acidic.

,  The solution is a non-conductor of electricity.

3 % Hydrogen gas is evolved when it reacts with Mg.



4 % It gives a blue-coloured solution when mixed with cupric oxide and warmed.

Question Number : 105 Question Id : 7532296580 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
aﬁﬁﬁﬂﬁaﬁaﬁaﬁmmm#mﬁﬁmﬁﬁaﬁﬁaﬁﬁ-mzmm%?
Options :

|« Taerms & pH 3T @ g

- faews fagga =1 Famo 2

3.wMg#mHaﬁﬁmmﬁng@mﬂgﬁmﬁr§|

4% S FYTeh TerArss & a1y Hemes 713w W A T # e B g

Question Number : 106 Question Id : 7532296581 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Magnesium reacts in air giving
Options :

| % MgO

5 « MgO and Mg3N;

5 % MgO and Mg,)C

4 % MgO and MgO,



Question Number : 106 Question Id : 7532296581 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

AT g & yETFT & 2

Options :
| = MgO

, v MgO 3T MgsN,
5 » MgO 3R Mg,C

, % MgO 3R MgO,

Question Number : 107 Question Id : 7532296582 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Lithium differs from the remaining Group 1 elements, as

Options :
1.« it forms carbides and nitrides

, % its salts of carbonate, phosphate and fluoride are soluble

3 % ifslon is less heavily hydrated

4 % 1t does not form complexes

Question Number : 107 Question Id : 7532296582 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical



Correct Marks : 1 Wrong Marks : 0.25
fofts w6g 1 F 377 acal ¥ e glar 2, #=ifs 38 !

Options :

| v TE FEEs AN ASEIES A ¢

- SHF FrAC, BIEHS iR FANSS & a0 Tl g g

s w SHE IS FH A FEIS ¢

o« TE T S foor e &

Question Number : 108 Question Id : 7532296583 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Group 14 elements usually form stable oxidation state. However, down the group, there is an increase in
stability of oxidation state due to
Options :

L % TILAIV; increase in metallic character
) ~+II; ~IV; inert pair effect
3 % TIL AL increase in ionic character

4 % TIL ~V; decrease in ionic character

Question Number : 108 Question Id : 7532296583 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25



THE 14 & dcd FHAR W B2 HTFHRIOT HATAT FAIT g1 FTeliieh, WHE & A o W
TFEEIOT FTET Fr BeRar # % FROT T A 2

Options :

+II; +IV; urfcss o7 7 T

]. #®
5w Hl +IV; T SET g

+lI; +lll; 3@l aor &7 gig

3. %

+: +V: HIfaF IoT H FA

4. %

Question Number : 109 Question Id : 7532296584 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following gives the preparation of N,O3?
Options :

| % Thermal decomposition of molten ammonium nitrate.

, % Asintermediate in Ostwald process.

5 % Low temperature condensation of an equimolar mixture of NO and NO,.

4 Dehydration of HNO; with PO at low temperatures.

Question Number : 109 Question Id : 7532296584 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25



=@ & ¥ FiF N,Os & B=a 9o Fiar 272
Options :

|« O AT AELE 1 FAT JIE |

5 » Hireares 9T # Feuadt F w9 H)

, x NO 3R NO, & v woarer T & Ty ama wuerer|

, v FH AGAR W P05 F WT HNO; &1 farsteliastor|

Question Number : 110 Question Id : 7532296585 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

IUPAC name for the complex [(CO);Fe(CO)3Fe(CO)4] is:
Options :

| % Nonacarbonyl-p-bisiron(0)

» -~ carbonyl-bis-(tricarbonyliron(0))
5 w U-tricarbonylbisiron(0)hexacarbonyl

4 % U-tricarbonyliron(0)-hexacarbonyliron(0)

Question Number : 110 Question Id : 7532296585 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
"l [(CO)3Fe(CO)3Fe(CO)3] #T IUPAC 1H gl
Options :



|« AAHE -y HRA(0)

5 o T8y FTE-E- (FEFEiiwemaT (0))
3, % H-STSeHT [T oT SR HTIR (O)ReFHTehTai fever

4 % H-STSERTS [ eTHTaTe (0)-geraTerTa oot 3mate1(0)

Question Number : 111 Question Id : 7532296586 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following do Cr{II), Mn(IIT) and Fe(II) complexes have in common?
Options :

| Number of unpaired electrons and experimental magnetic moment

, % Number of unpaired electrons and molar susceptibility
5 % Molar susceptibility for only high spin complexes

4 % Molar susceptibility for only low spin complexes

Question Number : 111 Question Id : 7532296586 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Cr(ll), Mn(lll) 3R Fe(ll) Fpet # Arafaf@a # ¥ Hla-8r @A=ar gdr g2

Options :

I.VWWﬁmﬁmﬁmm



- 3gTAa goagAl i FEar AR AR gantEa

- IS FoF TIHUT WHAl & o7 AR GTTge

Fa HET IR a&igﬂoﬁ & foT Arer ganfgar

Question Number : 112 Question Id : 7532296587 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT an oxygen transport protein?
Options :

| » Haemoglobin

, % Haemocyanin
5 % Haemerythrin

4 Ceruloplasmin

Question Number : 112 Question Id : 7532296587 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

ol 7 ¥ #iF 3daa =g 9T 78 27

Options :

| grAmae
, x RAMEEAT




3. % gl; TR

Y S [
4 v BEACATTEAA

Question Number : 113 Question Id : 7532296588 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Structure of metal framework in [Fe4(CO)y 2(:.‘]3' is:
Options :

| % Closed triangle

> % Tetrahedron

5  Butterfly

4 ® Trigonal Bipyramid

Question Number : 113 Question Id : 7532296588 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
[Fe,(CO),Cl¢ & org & &= & /L= g gl




| » PO iRt

Question Number : 114 Question Id : 7532296589 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following inorganic solids have a perovskite-type structure?
Options :

1. ¥ NaCl

, « FeTiO;

1
=3

s % ALO

, v CaTiO;

Question Number : 114 Question Id : 7532296589 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

T=@a § ¥ 0 3Feias 38 H UGS TR o T+ 2ar 22

Options :
| % NaCl

, « FeTiO;
3 » AlO3

, » CaTiO;



Question Number : 115 Question Id : 7532296590 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

The general formula of a normal spinel is:
Options :

| % Aloch)By(tet)Oy

) Altet)Bs(oct)Oy

3 % Altet)Bloct)O3

4 % Aloct)B(tet)O3

Question Number : 115 Question Id : 7532296590 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
T WA Fad 1 AT T gl

Options :
L% A(oct)Bo(tet)Oy

) A(tet)Bo(oct)Oy
3 % A(tet)B(oct)O4

4% A(oct)B(tet)O4

Question Number : 116 Question Id : 7532296591 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25



A mixture of propane and bromine gas in a stoichiometric ratio was exposed to sunlight. Graduallyv. the brown colour of
the mixture faded and the remaining mixture was analysed. The monosubstituted product formed in significant majority
will be .

Options :

| 2-bromopropane

) % I-bromopropane
3 % Prop-1-ene

4 % l.2-dibromopropane

Question Number : 116 Question Id : 7532296591 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 117 Question Id : 7532296592 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :



Vertical
Correct Marks : 1 Wrong Marks : 0.25

Which of the following will NOT show geometrical isomerism?
Options :
| % i CHECHE THC=C{ CHECHE CH3 ]CHE

, % CH3HC=C(CH,CH3)(CH,CH,CHs)

s« (CH3CH,),C=C(CH,CH,CH;)CHj

4 % {CHECHECHE HC=C{ CHQCH?, ]CH3

Question Number : 117 Question Id : 7532296592 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

T=f@a # ¥ 7 sAdT gHEETaar J67 T@reen?

Options :
| % (CH4CH5)HC=C(CH,CH5CH3)CH4
) % CH4HC=C(CH,>CH3)(CH,CH5>CHa)

5 v (CH3CHY),C=C(CH,CH,CH3)CH3

4 % (CH3CH,CH)HC=C(CH,CH3)CH3

Question Number : 118 Question Id : 7532296593 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Chloromethane is allowed to react with KCN in THF. The resulting reaction



Options :
| % Will not take place

, % Will take place by SN1 mechanism at a very slow rate
3 Will take place by SN2 mechanism

4 % will be an elimination reaction with E2 mechanism

Question Number : 118 Question Id : 7532296593 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 119 Question Id : 7532296594 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Two samples are given — one containing 1-chloropropane and the other containing 2-chlorotoulene. Which chemical test
and observation will confirm the presence of 2-chlorotoulene?

Options :



HC1 + ZnCl,: Turbidity observed after 5 min.
Add NaOH, heat, cool + HNO; ~AgNO3; White precipitate.
HCI + ZnCly; Turbidity observed immediately.

Add NaOH, heat, cool + HNO; ~AgNO3; No reaction.

Question Number : 119 Question Id : 7532296594 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

|« HCI + ZnCly; 5 fiwe & =g anfaerar 2@ 1

, % NaOH faama, a1 T, 337 A + HNOy +AgNO5; The 3aaiT|
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;. » NaOH famar, a1 faam, &1 fam + HNO; +AgNOg; #ig wfafsar w7

Question Number : 120 Question Id : 7532296595 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following compounds will be expected to have the highest solubility in water?

Options :



| % Prop-1-ene
But-1-yne
» l-aminopropane

Cyclohexane

Question Number : 120 Question Id : 7532296595 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical
Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 121 Question Id : 7532296596 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following has the highest melting point?
Options :

1 % Amines

»  Primary amides
3 % Secondary amides

4 % Tertiary amides

Question Number : 121 Question Id : 7532296596 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :



Vertical
Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 122 Question Id : 7532296597 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

2-chloropropane —+ potassium phthalimide followed by hydrolysis with NaOH will give:
Options :

| % l-chloro-4-propylbenzene and sodium phthalate

»  2-aminopropane and sodium phthalate
;3 % Propan-2-ol and sodium phthalate

4 % Sodium propanoate and phthalic acid

Question Number : 122 Question Id : 7532296597 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 123 Question Id : 7532296598 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
In Hoffmann elimination reaction of 2-aminobutane,

Note: For this question, discrepancy is found in question/answer. So,this
question 1s 1gnored for all candidates.

Options :
it is necessary to convert it to quaternary ammonium salt before treating with a strong base to get L-butene as 90%

product by Hoffmann regiochemistry.

it is necessary to convert it to quaternary ammonium salt before treating with a strong base to get 1-butene as 90%

product by Saytzeff regiochemistry.

it is necessary to convert it to quaternary ammonium salt before treating with a strong base to get 2-butene as 90%

product by Saytzeff regiochemistry.



it is necessary to convert it to quaternary ammonium salt before treating with a strong base to get 2-butene as 90%
4 broduct as formation of less substituted transition state is favoured due to more favourable carbanion formation.

Question Number : 123 Question Id : 7532296598 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Note: For this question, discrepancy is found in question/answer. So,this
question 1s ignored for all candidates.
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Question Number : 124 Question Id : 7532296599 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25



Insulin is secreted by:
Options :
1. % stomach

o # intestine

3 pancreas

4 % brain

Question Number : 124 Question Id : 7532296599 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 125 Question Id : 7532296600 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following amino acids can be synthesised in the human body?
Options :

1« Alanine



, % Lysine
3 % Valine

4 % Histidine

Question Number : 125 Question Id : 7532296600 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 126 Question Id : 7532296601 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following spectroscopic techniques will be useful to distinguish between binding modes of M-NO, and

M-ONO?
Options :
. v IR

» ® NMR



3 % Mass

4 ® EPR

Question Number : 126 Question Id : 7532296601 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1.v IR

> # NMR
3, % Ul

, % EPR

Question Number : 127 Question Id : 7532296602 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following electronic transitions are NOT forbidden?

(1)o =n
(2) T = n*
(3)o= o*

(Aym =0
Options :



| % Only (1) and (3)
, % Only(2), (3) and (4)
3 Only(2)and(3)

4 % Only (1), (3)and (4)

Question Number : 127 Question Id : 7532296602 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

F=f@a 7 @ F7-97 soeeias IFaAu At 78 87

(1) ¢ =2n

(2) m > e

(3)o=2> o=

4T =>a

Options :

% A (1) AR (3)

, » F(2), (3) 3R (4)
s v FE (2) AR (3)

4w (1), (3) 3R (4)



Question Number : 128 Question Id : 7532296603 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following factors will NOT affect chemical shift value in IH NMR spectroscopy?
Options :
| Amount of sample

, % Anisotropic effect
3 % Hydrogen bonding

4 % vander Waals deshielding

Question Number : 128 Question Id : 7532296603 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 129 Question Id : 7532296604 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical



Correct Marks : 1 Wrong Marks : 0.25
A compound CgHjnO- shows a significant IR band at 1770 cm'!, and three 'H NMR signals at t 5.8, 7.5 and 9.1 with

relative intensity 1:1:3, respectively. The structure of the compound will be:

Options :
H>&
H,C 0
1.v U
CHa
Hic/&ﬂ
. (@]
H.C
Hicmo
3. & Q
o 0
N 74
HC CH
4% 0 ’

Question Number : 129 Question Id : 7532296604 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

HiC MCH;
0

Question Number : 130 Question Id : 7532296605 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which of the following cases is the solubility in a solvent inversely proportional to the temperature?
Options :

1« Calcium oxide in water

> % Ethanol in acetone

3 % Potassium nitrate in water



4 % Lead chloride in water

Question Number : 130 Question Id : 7532296605 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 131 Question Id : 7532296606 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Phenol molecules exist as a dimer when dissolved in bromoform. In a lab experiment, 3.2 g of phenol has been
dissolved in 100.0 g of bromoform and colligative properties of the solution have been recorded. Which of the
following will be the expected observation?

Options :

L Solution freezes at 5.726 °C (given f.p. of CHBry is 8.10 °C)

5 % Solution freezes at 8.15 °C (given f.p. of CHBr;3 iIs 8.10 °C)

;5 % Theincrease in b.p. is exactly the half of decrease in f.p. for low concentrations.



4 % Thedecrease in f.p. is exactly one-fourth of increase b.p. for low concentrations.

Question Number : 131 Question Id : 7532296606 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 132 Question Id : 7532296607 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Consider an ideal solution of CH,>Cl, (0.45 mol) in CH5Br; (0.55 mol) at 25 °C. If at 25 ®C, the vapour pressures of

pure CH,Cl, and pure CH,Br; are 133 and 11.4 torr, respectively, the mole fraction of CH,Br, in the vapour phase will

be given by:
Options :
0.45x 11.4
L% (0.45 x 11.4)+ (0.55 x 133)




0.45 x 133
, % (045 x 133)+ (055 x 114)

0.55 x 11.4
; » (045 x 133)+ (055 x 11.4)

0.55 x 133
4 % (045 X 11.4) + (0.55 x 133)

Question Number : 132 Question Id : 7532296607 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

25°C 9T CH,Bry (0.55 mol) & CH,Cl, (0.45 mol) & T e Fema ov B=w &9 3fe 25°C |,
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Options :

045x 11.4
| % (045 x 11.49)+ (0.55 x 133)

0.45 x 133
, % (045 x 133)+ (055 x 114)

0.55 X 11.4
s » (045 x 133)+ (055 x 114)

0.55 %133
4 % (0.45 x 11.4)+ (0.55 x 133)




Question Number : 133 Question Id : 7532296608 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
For the following equilibrium, van't Hoff factor is 0.80

2A(g)=A;(g)

Hence, volume per cent of A,(g) in the total mixture is:
Options :
1.« 25%

5 % 50%
3. % 80%

4 % 40%

Question Number : 133 Question Id : 7532296608 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
| v 25%

5 % 50%

s % 80%



4 % 40%

Question Number : 134 Question Id : 7532296609 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

A-(D) glucose < B-(D) glucose; the equilibrium constant for this is 1.8. The percentage of u-(D) glucose at equilibrium
is:

Options :

1.« 35.8%

L

) % 55.6%

3 % 44.4%

4 % 64.3%

Question Number : 134 Question Id : 7532296609 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
| v 35.8%

, % 55.6%
3 % 44.4%

4 % 64.3%



Question Number : 135 Question Id : 7532296610 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Final pressure is higher than initial pressure of a container filled with an ideal gas at constant temperature. What will be

the value of equilibrium constant?

Options :

1. % K=1.0
» # K=100
3 % K>1.0
4 v K=<1.0

Question Number : 135 Question Id : 7532296610 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 136 Question Id : 7532296611 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :



Vertical
Correct Marks : 1 Wrong Marks : 0.25

Boiling point of H,O(l) increases when:
Options :

| bressure is increased

, % pressure is decreased

3 % studied at a mountain

4 % There is no effect of pressure on boiling point

Question Number : 136 Question Id : 7532296611 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 137 Question Id : 7532296612 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25



Which of the following is NOT an essential requirement of fuel?
Options :
| = High calorific value

, % Proper ignition temperature
5 % Ease of storage and transport

4 High viscosity

Question Number : 137 Question Id : 7532296612 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 138 Question Id : 7532296613 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is artificial (secondary) fuel?
Options :

1. ® Wood



, % Natural gas

3 % Petroleum

4  Coal gas

Question Number : 138 Question Id : 7532296613 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 139 Question Id : 7532296614 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT a merit or advantage of solid fuel?
Options :

| v They contain non-combustible metal.

, % Theycan be stored conveniently.



3 % They can be transported easily.

4 % They are cheap.

Question Number : 139 Question Id : 7532296614 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 140 Question Id : 7532296615 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

When we carry out fractional distillation of crude oil, the constituents will be separated based on their beiling point.
Which of the following will come out first?

Options :

1. % Kerosene

, % Naphtha

3 # Gasoline



4« Petroleum ether

Question Number : 140 Question Id : 7532296615 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 141 Question Id : 7532296616 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following electronic configurations is NOT as per the Autbau principle?
Options :

| % 15?2s?2p°3s?3p°4s’

152252 2p®3s?3p°4523d1%4p®5s244d?

2. %
3 v 15°25%2p°®3s?3p°4s?4d'°4p°5s’

4 % 15°28?2p°3s?3p°4s?3d’

Question Number : 141 Question Id : 7532296616 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :




| 1s?2s%2p°®3s?3p°4s’

5 % 15?25?2p®3s?3p°4s?3d!°4p®5s24d’
3 18%25?2p®3s?3p®4s?4d'%4p®5s?

4 % 18°25°2p®3s?3p°4s?3d’

Question Number : 142 Question Id : 7532296617 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

The correct IUPAC name of NHCH,CH; s

Options :
| # N-Cyclohexylethylamine

»  N-Ethyleyclohexanamine

;3 % N-Ethyl-N-cyclohexanamine

4 % Ethyleyclohexanamine

Question Number : 142 Question Id : 7532296617 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

|« N-AEFegFaeragaraAEa (N-Cyclohexylethylamine)

5 » N-TierEsFagFa=EAEa (N-Ethylcyclohexanamine)

; « N-Tfer- N-mrEeegaaam@E (N-Ethyl-N-cyclohexanamine)

4« UTCETSFAgFAATAEA (Ethylcyclohexanamine)

Question Number : 143 Question Id : 7532296618 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Identify the correct statement describing the Hamiltonian operator.
Options :
It is a linear operator, hence if W is the solution to HY = EW, *A’ times ¥ is also a solution. The constant * A’ may be

| chosen to produce a normalised solution.

It is a non-linear operator, hence if ¥ is the solution to HY = EW, ‘A’ times ¥ is also a solution. The constant ‘A’ may be

,» % chosen to produce a normalised solution.
5 % Itisa linear operator, hence if ¥ is the solution to HY = E¥, *A’ times ¥ will not be a solution.

It is a non-linear operator; if ¥ is the solution to H¥ = EW, ‘A’ times ¥ will be a solution if the constant *A’ is chosen to

4 % Dproduce a normalised solution.



Question Number : 143 Question Id : 7532296618 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ao gaTee (3TOYET) &1 U I Jrer HEr FUT HI Gg=T Fi

Options :

W EHEIAFEos g, AT IR HY = EY FIRema v & ar A aR ¥ ff v Foaa 81 o=
HAAST o0 30 &t & fav B ‘A’ &1 I S Fehel &l

1. ¥

T U s oo ¢, s0far s HY cEY 7 fRema W &, aF 'A' s ¥ &ff v e &1 0
. THAEST e 3c0e 0 & faw s A 1 g1 S Fehar gl

s » T U 8F vares g, $8fov afg HY = EY & R{egs ¥ g, & A’ aX ¥ U faaas 78 grml

Tg Teh 3{EF g=eis g, safae If HY = EY & Reaa ¥ &, ar 'A' I ¥ off t& g g, Ifg
L B A’ @ TE WAGA Fedd 309 H4 & fog g ST gl

Question Number : 144 Question Id : 7532296619 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
The de Broglie wavelength of a proton having a kinetic energy of 0.2 keV will be:

(given: h=6.6 X 1073*].s; mp = 1.6 X 107%"kg; me = 9.1 x 107*'kg)
Options :
| % 883 %1022 m

, % 8.83 x 102t m

3 % 110 X 1078 m



4« 2.06 X107 m

Question Number : 144 Question Id : 7532296619 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

0.2 keV #r 7ifa= F=T IrF T 9T &7 2 g gTeed grar)

(far & h=6.6 x 1073 .s; mp = 1.6 X 107?"kg; me = 9.1 x 1073kg)
Options :
| ® 883 x107% m

> % 8.83 % 107 m
3 % 1.10 X 107*% m

4« 2.06 X107 m

Question Number : 145 Question Id : 7532296620 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the assumptions of the kinetic-molecular theory best explains Dalton's law of partial pressure?
Options :

1+ Gas molecules moves at random with no attractive forces between them.

, % Thevelocity of gas molecules is proportional to their Kelvin temperature.

;3 % The amount of space occupied by a gas is much greater than the space occupied by the actual gas molecules.

4. % Collisions with the walls of the container or with other molecules are elastic.



Question Number : 145 Question Id : 7532296620 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ta=-3uTas fBEa &1 i O 9T STeea & M9 aF & faus &f gud 3= cOrEar & 87

Options :

livﬂ?#ﬂmmﬁ?ﬁmﬁmma’maﬂémwﬁm%r

, AT & AT F AT 3AF Hlodd ATHA F FAGAE T gl

T I IR T AT T H A AEd (G S HURT SGRT T AT wre B g H aga Aw
x Bl gl
3.

L w SIS HT GERT T Ao OB F A THE AT B g

Question Number : 146 Question Id : 7532296621 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
The van der Waals’ real gas equation accounts for:
Options :
actual size of molecules and hence excluded volume of gas in terms of factor *b’. i.e. larger the value of *b’, larger the

| size of gas molecules.

intermolecular attraction between gas molecules, i.e. smaller the value of "a’, stronger the attraction between gas

> % molecules.

actual size of molecules and hence excluded volume of gas in terms of factor ‘a’. i.e. smaller the value of *a’, larger the

5 w size of gas molecules.



intermolecular attraction between gas molecules, i.e. smaller the value of *b’, weaker the attraction between gas
4 % molecules.

Question Number : 146 Question Id : 7532296621 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

I T F IEIEF ST T ¥ T 3ooEr B

Options :

U FT AEATAH HHR AN SHOT FRe b’ F Fesr A A T afgsepa A (AT b’ F A AT
l'wﬁw,ﬂﬁa@ﬁmmmé‘r@m}

AT F HUET F T IFAT-N0TREE HHOT (3T @' F A AT Brer g, FH F 3t & A=
- HTHYUT 3T &I H=gd g1om)

U3 FT ATEAfa® HER AR SHIOT FRe 'a' F Fest H 34 F afgvepa A (AT ‘8’ F A ST
- DIET 81T, 39 & 3703 #T HHR 3aT & a7 grem)

A & HUET & AT FAR-N0TRE ST (3T b F A AT Brer g, FH & HHT & =
, % HTHEOT 3AAT & FASAT gEM)

Question Number : 147 Question Id : 7532296622 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to selection rules for the FCC lattice, x-ray diffraction will be observed for which of the following sets of
lattice planes?

Options :

| v (111),(200), (220)



5 % (110), (200), (211)

5w (111),(222), (333)

4 % (100), (200), (220)

Question Number : 147 Question Id : 7532296622 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

FCC Sors & =aa faudt # 3aar, Rrafof@a 7 @ S aa & 5w 8 & o x-for feda

&@r ATE?
Options :
v (111), (200), (220)

, = (110), (200), (211)
3 % (111), (222), (333)

, % (100), (200), (220)

Question Number : 148 Question Id : 7532296623 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Identify the correct representation of Maxwell-Boltzmann’s distribution curve.
Options :



3. ¥

Number of molecules Number of molecules

Mumber of malecules

1600 K
400 K

100K

Velocity of molecules (A.U.)

160K
400 K

100 K

Velocity of molecules (A.U.)

400 K
100 K

1600 K

Velocity of molecules (AL.)



400 K
100 K

1600 K

Number of molecules

4. % Velocity of molecules (A.U.)

Question Number : 148 Question Id : 7532296623 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
ffw sv Repeal 7 ¥, AeEad-alecadd & T 9% F TEr Fwor & gg=a F:1

Options :

1600 K
400 K

100K

ULl B AT

S{ULAT &1 97 (AU



E 160K
: 400 K
z
100 K
=
- UL &1 9T (A.U)
% 400 K
100 K
jg 1600 K
3

2 STULHT BT 4T (AU,

400 K
100 K

1600 K

UL P T

UL &1 AT (A.U)

4. ®

Question Number : 149 Question Id : 7532296624 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :



Vertical
Correct Marks : 1 Wrong Marks : 0.25

The reaction N; O,y & 2 NO, () has a KC value of 1.07 X 1072 in chloroform.

Once equilibrium is attained in the reaction vessel fixed with a movable piston, its temperature is increased followed by
a lowering of pressure. It will be observed that:

Options :

| % the volume of the reaction mixture decreases during both the events.

, % thevolume of the reaction mixture increases during both the events.

5 w the volume of the reaction mixture decreases during the temperature rise but increases during the lowering of pressure.

4 the volume of the reaction mixture increases during the temperature rise but decreases during the lowering of pressure.

Question Number : 149 Question Id : 7532296624 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

FARIBH T N,0,, 2 2NO,,, &I &1 KC AR 1.07x 10~° grar g

UF IR I TF T Oed F @y fFug #fEfEar o7 # gges gra & s g, & g5 avAe §9e
ST & 3T 35F 9 29 FH & J1dT g1 SHE FT HTded 9Iod 2R?

Options :

|« aer gt & e sfafEar s 1 e g S gl

, « Gl et & R AR AT # s 9T Fr g

3 % ATAE i aRE ARG FAUT F HUGS g AT g A 19 FF g9 W §¢ ST ¢



4'¢mq@'#ﬁﬂ?3@mﬁl’mm3ﬂudﬂ@mm%éﬁmaﬁmgﬁﬁwmmh

Question Number : 150 Question Id : 7532296625 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
The reaction COCl, ) 2 COy + Cl; ) has a K¢ value of 2.2 X 10719 If the initial concentration of COCI, was

0.164 M, at equilibrium, the concentration of CO will be:
Options :
| ¢ 6.0 x10°%

, % 7.1 X107
3 % 8.2x10710

4 % 36.08 x 10712

Question Number : 150 Question Id : 7532296625 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
COCL, ¢y 2 €O, + Cly (o, HFABRAT T Ko A 2.2 X 1072° ar 81 I Hgeat X COCL, #Hr TRiF=
gar 0.164 M ofr, @ CO &1 Figar grem|

Options :

| v 6.0 x107°
, % 7.1 x1077
;% 82x10°10

4 % 36.08 x 10712



Question Number : 151 Question Id : 7532296626 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

In conductometric titrations. in order to obtain accurate results,
Options :

1 % cations should be titrated with acetates

o % anions should be titrated with lithium ions

3  thereagent added should be 10 —20 times more concentrated than the solution being titrated

4 % slightly lonised salts should be used

Question Number : 151 Question Id : 7532296626 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
AARATAAT (FIFeNH e IFFATT H, T aRomH 97 == % g, i

Options :

lﬁamﬁﬁwﬁﬁ#maawﬁmm

- HOTIaT B TR 3mgar & @ 3gAET TR S g

ST AT A HFHE Hgﬁr%mﬁﬁwﬁwﬁ10-2ﬂﬂmaﬁ$m@m?ﬁq

3.¢

4 % ST W AT SEUT &7 WEET AT AR



Question Number : 152 Question Id : 7532296627 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
A student has been asked to carry out salt analysis of a mixture of ferric chloride and zinc nitrate using standard

reagents. The student added ammonium chloride and aqueous ammonia to a solution of the salt mixture. Furthermore,
atter filtering, H, S gas was bubbled through the filtrate. Which of the following are the expected sets of observations?
Options :

| v Ared-brown precipitate of ferric hydroxide and a white precipitate of zinc sulphide.

, % A vellowish green precipitate of ferric hvdroxide and a green-grey precipitate of zinc sulphide.

;3 % Agreen precipitate of zine hydroxide and a white precipitate of ferric sulphide.

4 % Awhite precipitate of zinc hydroxide and a green precipitate of ferric sulphide.

Question Number : 152 Question Id : 7532296627 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

T OIF U AAF HfAFHST FT 39007 F6 BE Fangs JAR &5 s & Beor Fr agor Geewor

T & T &g 3T o F o907 BT F O J AR FEnEs it Sen AT B 5
T, Ol & a6, H,S 38 # ede F #reww & ggeern| ot fwear J @ Fia dewit &

smfEE e €2

Options :

l'wﬂ?ﬁﬁaﬁws‘s'” FT M-8R 3T AR T TowEs F1 v The T8

. SR FEsieEss w1 deTaT R ok B wewms & s e

s« TSI FEEEEEE F U HEE IR Bie Fowss # vE wike HEem|



, » TSI gISSieNISS F WHE HEAIT iR BRE Fowes # g |

Question Number : 153 Question Id : 7532296628 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Out of the following statements:

I: A system may be a complex as a human body or as simple as mixture consisting of a drop of water.
IT: A system is said to be macroscopic when it consists of a large number of molecules, atoms or ions.
IIT: Pressure, volume, temperature and surface area are some macroscopic properties.

Select the correct statements.

Options :
1« ILII. 111

, % OnlyLII

3 % Only I, III

4 % OnlyIL III

Question Number : 153 Question Id : 7532296628 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25



T=@T Fual § ¥ T80 Fu (FUaD) & TI7 H
;e womer A o) #r A & Ffea o 9 Fr g8 & gEd Reor F i @ @ qehar ¢
ll: T JUTEH T FUF (HHITHITS) HET AT § 9 SHA T8 TEA A HU], THA0] A HEA & 8

Il: 219, TS, qIHATT AT TAg &5 FO TYT (HPITHITIH) 0T 2
Options :
Lo LI

L x FE
L x a1 I

4 % e I, I

Question Number : 154 Question Id : 7532296629 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

The entropy change involved in the isothermal reversible expansion of 2 moles of an ideal gas from a volume of 10dm’

to a volume of 100 dm? at 27 °C is:
Options :

|« 383 Tmolt K
» % 358 Tmoll K

3 % 323 Tmol! K

4 % 423 Tmoll K1



Question Number : 154 Question Id : 7532296629 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

27°C 9T, Ueh 3EY T & 2 mol & 10dm? & 3maded ¥ 100 dm® & 3uaa & gaEaT giaadr
PR & ofEe veert TREaT gl

Options :

| v 38.3 J mol'l K

, % 35.8 J mol! K
3 % 323 J mol'! K

4 % 423 J mol! K

Question Number : 155 Question Id : 7532296630 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
The work done by a system is 8 litre-atm when 40 joule heat is supplied to it. What is the increase in the internal energy

of the system?
Options :
1. % -327

7 o 770417



Question Number : 155 Question Id : 7532296630 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical
Correct Marks : 1 Wrong Marks : 0.25

40 J FAT H AT F T TF JUM & g@rT Far 73 & 8wl -atm €l
quTe Fr HANE FAr H hder g gei?

Options :
| % =32 J

5 v <7704 J
3 % 32J

4 % -850.4 J

Question Number : 156 Question Id : 7532296631 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical
Correct Marks : 1 Wrong Marks : 0.25

What would be the enthalpy change of hydrogenation of ethene?
CH2=CH2 EF H2 =t CH3—CH3
Given: Bond energies (kImol'l) C-H= 413, C-C= 347, C=C =612, H-H = 432.
Options :
| % -186 kI mol™?

5 % + 186 kI mol™t

3 o =129 kI mol™



4 % +T129kImol™

Question Number : 156 Question Id : 7532296631 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

SIT & FSSIAATRI0T FT Tedodl Iade F4T grem?
CH2=CH2 = H2 ¥ CHg-CHE,

feor & Fua F=r (kdmol!) C-H= 413, C-C= 347, C=C = 612, H-H = 432.
Options :
| % -186 kJ mol™

5 % + 186 kJ mol™
3 v =129 kJ mol

4 % +129 kJ mol

Question Number : 157 Question Id : 7532296632 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

A standard hvdrogen electrode has a zero potential because:
Options :

| % hydrogen can be most easily oxidised

, % hydrogen has only one electron



3 the electrode potential is assumed to be zero

4 % hydrogen is the lightest element

Question Number : 157 Question Id : 7532296632 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
U HIAE RS Soagis A - T gar g e
Options :

| TEENT P WEH HTEE @ AR R S FehaT €

, x ETEEISS H A T Soledlal 2T &

2 Selagrs s Fr = HET 1T 8

, « ETSEISA WEW Eo A §

Question Number : 158 Question Id : 7532296633 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

The difference between the electrode potentials of two electrodes when no current is drawn through the cell is
called :

Options :

| % cell potential

7 « cell EMF

3 w Potential difference



4 % cellvoltage

Question Number : 158 Question Id : 7532296633 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
S UF & HETH T FIS UNT FET Wi F1Ar § a6 3 SoigalE F godls Fuat & f7 F dar
FeT 1T 2

Options :

| % BT e
» v T EMF
y » AR
o % B Stezar

Question Number : 159 Question Id : 7532296634 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Two platinum electrodes are immersed in a copper sulphate solution and a current is passed. Slowly, the colour of the
solution disappears leaving behind a colourless solution. The colourless solution is:

Options :

| % water

» % Pplatinum sulphate solution

;3 % copper hydroxide



4 sulphuric acid solution

Question Number : 159 Question Id : 7532296634 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

ar wRAH soEgs FT FIR Fewe & Hodd H FAT G ¢ AR TF ORT wafea #r A g1 9y,
e &7 TT T 2 I g, AR Bead TR g A9 B FRE Head gl

Options :

| % 9TEr

, % ToleAH Tewe Aodd

s« T FTEFFASS

4 HelrdiXen HEA Tl

Question Number : 160 Question Id : 7532296635 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
The time required to remove electrolytically one-fourth of Ag from 0.2 L of 0.1M AgNO; solution by a current of 0.1

amp is approximately:
Options :
1. % 320 min

5 % 160 min

3+ 80 min



4 % 40 min

Question Number : 160 Question Id : 7532296635 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical
Correct Marks : 1 Wrong Marks : 0.25

0.1M AgNO; 3@ & 0.2 L & 0.1 A Fr ORI carT soFdamsies §7 ¥ vH-Atus Ag F B &

T FETe THT ST gl
Options :
1. ® 320 min

2 #® 160 min

3 « 80 min
4 ® 40 min
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Question Number : 161 Question Id : 7532296636 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

For the reaction 2E +F — G + 2H, which of the following statements is correct?
Options :

1. # Overall order of the reaction is 3.

, % The molecularity of the reaction is 2.
3 % Order of the reaction with respectto F is 1.

4  Rate expression cannot be predicted from the information given.

Question Number : 161 Question Id : 7532296636 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

FATBI 2E + F — G + 2H & o, =g # ¥ &9 @ 599 @61 272

Options :

|« wEe AfEfETT Hr @fe 3 g



) « R & U 2 ¥

s « F & Tag & s@fear & #iie 1 3
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Question Number : 162 Question Id : 7532296637 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statements regarding a catalyst is FAT SE?
Options :

| = It remains unchanged at the end of a chemical reaction.

» % Itis highly specific in its action.
5 % Acatalyst does not change the state of equilibrium in a chemical reaction.

4 1t nitiates, propagates and terminates a reaction.

Question Number : 162 Question Id : 7532296637 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

39%F & TeY F AT § ¥ Fi9 7 Fu9 9d 27

Options :

|« THETE AT % 39 # 78 I9REtad @ gl

, « FE A BRAT A scate Rftee 7



T 3eate TEEEe A 7 dgee & Tufy w7 @ sgerar 2

3. %

4¢%wﬁﬁmﬁaﬁ,ﬁﬁﬁﬁemud FIT ¢

Question Number : 163 Question Id : 7532296638 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
When a chemical reaction takes place, during the course of the reaction, the rate of the reaction
Options :

| % keeps on increasing with time

> % remains constant with time

3 keeps on decreasing with time

4 % shows irregular trend with time

Question Number : 163 Question Id : 7532296638 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

S FT TAAF AT g9 g, aF 3@0Fa ¥ o @ fr g
Options :

|« THT % WY T AT

, » THEE & Ty B wr e

s v THT % EIY "ed S 8



4 x THT % wry Afeafda wgfea w i @

Question Number : 164 Question Id : 7532296639 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
The rate of the reaction between bromine and methanoic acid is first order each with respect to the two reactants.

Bry(aq) - HCOOH(aq) — 2Br-(aq) + 2H+(aq.) + CO5(g)

Which of the following statements concerning the reaction is correct?
Options :
| Doubling the concentration of bromine doubles the rate of the reaction.

, % Doubling the concentration of both bromine and methanoic acid doubles the rate of the reaction.
;. % Halving the concentration of both bromine and methanoic acid halves the reaction rate.

4. % The overall order of the reaction is one.

Question Number : 164 Question Id : 7532296639 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

S AR AT e F 9= HEATR T X g HFERE F wET # wyH FE F gdr g

Bro(aq) + HCOOH(aq) — 2Br-(aq) + 2H+(aq.) + CO(g)

T F Ty R AT T s w2

Options :

lwmiﬁrﬁfqmﬁq‘]gm T #aﬁkﬁmsﬁ‘rmeﬂ?ﬁrg‘rmﬁr%l




. mﬁ?#ﬂmmaﬁﬁ%mgmaﬁcﬁgm e '@I‘B—Tﬁﬁﬁ»‘mﬁa?aﬂ?ﬁﬁm?ﬁ%r

2. %
s« FEE HR AuesE IHF Al S HEAT B AT G T JROHAT & e @ S d

, « TR Fr TET FfC TF gl

Question Number : 165 Question Id : 7532296640 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

IfA and B are two operators such that [ﬁ B ] = L.then [fl , B2 ]=
Options :
1% 24

2. v 2B
3% B

4% A

Question Number : 165 Question Id : 7532296640 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

afg A 3R B YR EFRF & T [A,B] = 1§, A [A,B?] =T | F47 g7
Options :
L% 24

R4 2B



Question Number : 166 Question Id : 7532296641 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the eigen value for eigen function ¥ = sin3x ?
Options :

1. % 9

2.¢ -9

Question Number : 166 Question Id : 7532296641 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

HEAFETF (3129) Fold ¥ = sindx F ow 3T 79 F2r 272

Options :
1% +9

2.¢ -9
3. % *+3

4. % -3



Question Number : 167 Question Id : 7532296642 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
An electron is confined in a 1D box of length IA. Calculate its ground state energy (in eV).

Options :
1. % -37.6

) & +37.6
3 % -150.4

4 % +150.4

Question Number : 167 Question Id : 7532296642 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

T goigeid 1A @915 & 1D Sio® # INEwS g1 ST FeAgq g FA1 (eV #H) FHr TuETr F:i
P
5 v +37.6
3 % -150.4

4, % +150.4

Question Number : 168 Question Id : 7532296643 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25



What will be the ground state energy for an electron in a rectangular box of lengths 1012 m, 1.5 x 101 m and
2%10° 12 m9

Options :

L v Lo2x1077]

, % 2.04% 1077
3 % 5.76 <1077

4 % 3.52x1077

Question Number : 168 Question Id : 7532296643 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

101 m, 1.5 x 107 m 3t 2 x 101° m &% & 3UTFR sag F TF SAadd & v FAeaaw
HTTAT FAT FAT FEA?

Options :
L 1.02

107 J

b4

, % 2.04 x 10 J
; % 5.76 x 102 J

4 % 352 % 107 J

Question Number : 169 Question Id : 7532296644 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25



For which of the following is Tungsten metal NOT used?
Options :
| Resistance wires for electrical heating

) % Filaments of electric lamps
3 % Pen points

4 % Springs of musical instruments

Question Number : 169 Question Id : 7532296644 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
frfof@a & @ Fus v T uig & 3w @@ Far smer 82

Options :

IJWW#%WW

- fagga o9 & fremied

Question Number : 170 Question Id : 7532296645 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Contact Process is used in the manufacturing of:
Options :



» Sulphuric acid
> % nitric acid
3 ® ammonia

4 % hydrochloric acid

Question Number : 170 Question Id : 7532296645 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 9T & 39T F fasor 7 o =T B

Options :

| TOHNE I

Z_wmg‘@am
3 % HAMATT

, » TTEEIFGIE IF

Question Number : 171 Question Id : 7532296646 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Le-blanc process is used in the manufacture of:
Options :

1 NHECDB



, % NaHCOj;

5 x CasOy

4 % NaOH

Question Number : 171 Question Id : 7532296646 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

F-soles 9T &7 3IarET & famor & far = B

Options :
| NEQCOE,

, » NaHCO;,
, » CaSOy

4 % NaOH

Question Number : 172 Question Id : 7532296647 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT true about Baeyer's reagent?
Options :

| w Itis 1% solution of KMnO, in alkaline medium.

, % Itisused in detecting double bonds in organic compounds.

5 ® Itisa powerful oxidant.



4 v It works in acidic medium only.

Question Number : 172 Question Id : 7532296647 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

T ¥oeRs F T # =T 7 ¥ Fi-ur Ree g J8 22

Options :
| x TE &{ AT # KMnQ, F 1% feae g

, « FHE FHAT FHAfee R H BT T F AT FA A fRAT €T 2
, x U8 T ofFaure s gl

, v T HET ATemA H & F1Y T

Question Number : 173 Question Id : 7532296648 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

solution of phenol is an antiseptic, while its solution is a disinfectant.
Options :
L% 1%; 1%

5 & 0.2%; 1%
3 % 2%:0.1%

4. 4 la.-'b: {].2'}/(:



Question Number : 173 Question Id : 7532296648 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

ATt T faergs v TemuRues B, S sHe CECCREREr=-copcolld
Options :
e 1%; 1%

o » 0.2%; 1%
3 % 2%; 0.1%
4 % 1%; 0.2%

Question Number : 174 Question Id : 7532296649 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which artificial sweetening agent is a trichloro derivative of sucrose?
Options :

| % Aspartame

> % Saccharin
3« Sucralose

4 ® Alitame

Question Number : 174 Question Id : 7532296649 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical



Correct Marks : 1 Wrong Marks : 0.25
PIA-TT FHH ALY HHpas (THC) Pl F1 eeaFall gededt g7

Options :

Question Number : 175 Question Id : 7532296650 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is the most recent tvpe of computational technique used in chemistry research?
Options :

1. % MNDO

7 % PM7
3 % CNDO

4« DFT

Question Number : 175 Question Id : 7532296650 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

A=ale 7 T 37w BaE FHeTHT H 3UIET F T T FATTH THIT FT GO
(FILAAT) TPl 87?




Options :
| % MNDO

5 & PM7
; x CNDO

4. v DFT

Question Number : 176 Question Id : 7532296651 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is freeware?
Options :

1.« Gamess

> % Gaussian

3 % Jaguar

4 % Spartan

Question Number : 176 Question Id : 7532296651 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

=T et § ¥ Fi9-91, TF BT &7

Options :

| » Gamess (33@)



, » Gaussian (IM3f8Te=)
, « Jaguar (SHT3)

, » Spartan (FI1EH)

Question Number : 177 Question Id : 7532296652 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following polvmers have more than one monomer?

I: Nylon-6
IT: Nylon-66
III: Teflon
IV: Buna-S

Options :
1. % TandII

7 « ILand IV
3 # IlandIII

4 % LII and IV

Question Number : 177 Question Id : 7532296652 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25



fmmfafea & & 5w agos & oF ¥ 3w oohes (AFm) 89 82
|: FTTATA-6

II: ATTeA-66

1l: THeTTe

V: EFAT-S
Options :

Rl
5, o Il JR IV
5 o 13RI
g ox L3RIV

Question Number : 178 Question Id : 7532296653 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Arrange the following groups of monomers in the order of their decreasing ability to undergo anionic polymerisation.

H:C=CHCH; HoC=CHCl H:C=CHC=N
I I I
Options :
1. % I=I1>1II
o MI>IM>1

3 % I=II>1I



4 % O>1>1II

Question Number : 178 Question Id : 7532296653 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
W#Wﬁﬁﬁﬂ@ﬁﬁﬂ@ﬁﬂﬁﬁﬂ@ﬁﬂﬁ?ﬁmﬂﬂmﬁﬁmmﬁrmﬁ
FH H cuetiyg #1

H,C=CHCH3 H,C=CHCl  H,C=CHC=N

I [l I
Options :
L w1 > 0>

s >0 >
sk 1> 0>

Lox 1> 1>

Question Number : 179 Question Id : 7532296654 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT in the principle of Green Chemistry?
Options :

| % Afom economy

,  Product yield and purity



3 % Safer solvents

4 % Design products for degradation

Question Number : 179 Question Id : 7532296654 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

T=faf@a 7 ¥ #i7 g woa & fOEe #7 a8 82

Options :

SHT] LTt

1. ®

2.¢3Fq1?;m3ﬁT?FET
s TUad faemae

4 % e & T 3cae HiseeT

Question Number : 180 Question Id : 7532296655 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Large amount of waste per kilogram of product is produced by which industrial segment?
Options :

| % Oilrefining

> % Bulk chemicals

3. % Fine chemicals



4 « Pharmaceuticals

Question Number : 180 Question Id : 7532296655 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical
Correct Marks : 1 Wrong Marks : 0.25

gfa Bretens 3c9g # 93 #@T 7 9firse o semiFe s Enr sowfea fem srar 87

Options :

| % e QeI

2. "~
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3. %
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Section Id : 753229344

Section Number : 1

Section type : Online
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Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 753229415
Question Shuffling Allowed : Yes

Question Number : 181 Question Id : 7532296656 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following pairs is NOT correctly matched?
Options :

| % MCM-41 - Hexagonal

7 % MCM-48 =2 cubic
3 % MCM-50 = Lamellar

4« MCM-58 = Spherical

Question Number : 181 Question Id : 7532296656 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
T=ofle # ¥ #ia-31 377 7 gafea @@ 82
Options :

| % MCM-41 > weeoiT




> x MCM-48 > =i
; » MCM-50 > wefad

4 v MCM-58 > #iemar

Question Number : 182 Question Id : 7532296657 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

The use of nano-reaction vessels combines solution-based svnthesis techniques directly with size-limited growth.
Assume that a surface is embossed with 100-nm-wide hemispherical imprints that are then used as reaction vessels.
What is the column of the reaction vessel?

Options :

L 2.62 %102 m3
5 % 2.093 x 10721 m?
3 % 2.62 % 1026 m]

4 % 2.093 % 1027 m?

Question Number : 182 Question Id : 7532296657 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

AA-ARTRTT IE FT 3T FATNA-HTRT TSI Tehatlehl 1 T HHR-TTAT G & @y Sgar
T AT of 5 T Tag 100-nm-al MeE S Mua S AU s e SR gw AR w oS F w A
39T T Srar g1 TR 9 @ w9 F4m 87

Options :



L 2.62 x10%2 m3
, % 2.093 x 1021 m3
; % 2.62 x 10726 m?d

4 % 2.093 x 1027 m3

Question Number : 183 Question Id : 7532296658 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
The Water Quality Index. used to determine water quality, gives more weightage to:
Options :

| ® temperatre

7 « coliform
3 % TDS

4 % nitrate

Question Number : 183 Question Id : 7532296658 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
T Fr AuTEe fRufa e & O sraATe fRar S aren e IUTEedT g Ea)
HF HgeT & g

Options :
|, % dr9Hl




Question Number : 184 Question Id : 7532296659 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Several air pollutants are responsible for causing cancer, termed as carcinogens. Which of the following pollutants

causes liver cancer?
Options :
| ¢ Vinyl chloride

> % Toluene

3 % Methanol

4. % Acetone

Question Number : 184 Question Id : 7532296659 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
F5 dY TguF W JeT F F v TEer ge 8 ey Fut S9e (Ffeeses) Fa S gl
fFaofla & ¥ =9 T 9eu% I5d HI FT FROT a1 872

Options :

| TS FENES




Question Number : 185 Question Id : 7532296660 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Addition of which of the following in butter increases its self life from months to years?
Options :

| % BHT

, « BHA
3 % BHS

4. % BAH

Question Number : 185 Question Id : 7532296660 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Tres # =@ § 8 s s 9 3uer T-Siee (A% 9E%) A9 § 96 g% §¢ ST 27

Options :
| % BHT

>« BHA

, % BHS



, % BAH

Question Number : 186 Question Id : 7532296661 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is the sweetest artificial sweetening agent?
Options :

1.« Alitame

> # Sucralose
3 % Saccharin

4 % Aspartame

Question Number : 186 Question Id : 7532296661 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
=fofe et 7 & w8 Aot T Ay dfHwar #ia 22
Options :

1_¢'E'?hﬁﬂ



Question Number : 187 Question Id : 7532296662 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Titanium dioxide is commonly used in:
Options :

| % toothpaste

2« SLMsCIeen Crealn

5 % Vvanishing cream

4 % antiseptic cream

Question Number : 187 Question Id : 7532296662 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

TrEefATH SEHTEEIET FT 3T HHAR 9T F BFar Fmar g

Options :

) @ TATEHI I
s« e Fm

\ Y] qerek (VErafes) A

Question Number : 188 Question Id : 7532296663 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25



Which of the following countries has a specific category of products that are in between cosmetics and drugs called
quasi-drugs?

Options :

1. ¥ India

5 « Japan
3 % China

4. % Pakistan

Question Number : 188 Question Id : 7532296663 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAeaofla & o 5 2 & 36 & v Bfise 397 § & dicy sareEr Ak vt F &g s g
foree -3iIfer (F=TTe-ge) FaT ST 87

Options :

1w ARG

7 o SHled
3_%33?5{
4%.$q'|ﬁﬂ_\;ﬂ?

Question Number : 189 Question Id : 7532296664 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is NOT correct about herbicides?
Options :



| % They are also known as Weedkillers.

> % Sodium chlorate and sodium arsenite are herbicides.

3 « They are environment friendly.

They can decompose in few months.

Question Number : 189 Question Id : 7532296664 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
R Reedl # ¥ FiF oranh (@aEs) & g9y & T8 87 27

Options :

|« 378 QUARR (d1sfeR) off FEr e 2
, » WIBTH FoRe AR Afsas 3mdase aeman’ i
3.‘“#‘:111‘%%:34@@@#%

| ¥ FO wEe R g ww

Question Number : 190 Question Id : 7532296665 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Organic toxins Aldrin and Dieldrin are:
Options :

| % Wwater soluble and bio-degradable



, % Water insoluble and bio-degradable
5 % Water soluble and non-biodegradable

4  Water insoluble and non-biodegradable

Question Number : 190 Question Id : 7532296665 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

FaTerer AuFd 961y Tlegd iR sACoss . gl

Options :
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Question Number : 191 Question Id : 7532296666 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT a part of adsorption chromatography?
Options :

| % Column chromatography

, % Thin layer chromatography



3 Partition chromatography

4 % High performance thin laver chromatography

Question Number : 191 Question Id : 7532296666 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Tl # ¥ HiF JAfeivor SueEs F1 aeT J387 27

Options :

x L
|« T FUEIEH

5 % Tl XA FUREH

3 v Eered gueEs

4 % 3= fAsOEa goel WRa JuTeEd

Question Number : 192 Question Id : 7532296667 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following methods is used for estimation of halogens?
Options :

1 % Dumas method

) % Kjeldahl's method

3« Carius method



4 % Liebig's method

Question Number : 192 Question Id : 7532296667 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR 7 ¥ &g B & 3990 goaa & 3ead & e & aar 82

Options :

Wﬁﬁ}

1. *®
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Question Number : 193 Question Id : 7532296668 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is NOT an electrochemical technique?
Options :

| % Potentiometry

, % Voltammetry

;3 % Coulometry

4 & Mass spectrometry



Question Number : 193 Question Id : 7532296668 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
frrfof@a Rewedl # @ sia-w, vs fagga Taafas gwsie &6l 27
Options :
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Question Number : 194 Question Id : 7532296669 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the full formof ICP-MS?

Options :
| % Inductive Coupled Plasma Mass Spectroscopy
) Inductive Coupled Plasma Mass Spectrometry

3 % Induced Coupled Plasma Mass Spectrometry

4 % Induced Coupled Plasma Mass Spectroscopy

Question Number : 194 Question Id : 7532296669 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :



Vertical
Correct Marks : 1 Wrong Marks : 0.25

ICP-MS & q0T & &7 8?2
Options :
|« Inductive Coupled Plasma Mass Spectroscopy (F37#¢a 968 TolleHl AT FIFEITHIIT)

, » Inductive Coupled Plasma Mass Spectrometry (33Tded Fes oAl AT FTIFSIH)

, » Induced Coupled Plasma Mass Spectrometry (35T FIe5 “oleH ATH TIFIAL)

L% Induced Coupled Plasma Mass Spectroscopy (ﬁ%—é’ HUeE ColleH] ATH THaeIThINT)

Question Number : 195 Question Id : 7532296670 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT an advantage of random sampling?
Options :

1. % It is accurate.

o % It is an economical method for the collection of data.

3 w Itis free from personal bias.

4  Iis time consuming.

Question Number : 195 Question Id : 7532296670 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 196 Question Id : 7532296671 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT anti-plagiarism software?
Options :

| # URKUND

> % iThenticate
3« Gaussian
4. % Turnitin

Question Number : 196 Question Id : 7532296671 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

T=@a 7 o #ia-ar oo =l (TE-=ies) aveaaT 78 82

Options :




| # URKUND
> % IThenticate
3 « Gaussian

4. % Turnitin

Question Number : 197 Question Id : 7532296672 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the treatment of which of the following diseasesis the AuNP therapy NOT used?
Options :

1. ® Cancer

> % Malaria
3 % AIDS

4.+ Tuberculosis

Question Number : 197 Question Id : 7532296672 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

=@ 7 ¥ 559 07 & 399 & AuNP RfEcar &1 39arer S8 & srar 87

Options :

I'Q%HT

z.wm



, « TSH (AIDS)

, TeHAT (SEFGHATHH)

4.

Question Number : 198 Question Id : 7532296673 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

PPF-DA is a bio-degradable material used as a bionanocomposite. What is its full form?
Options :

|« Poly(Propene Fumarate) Di Acrylate

, » Poly (Propene Furan) Di Acrylate

; % Poly (Propelene Fumarate) Di Acrylate

4 % Poly(Propelene Furan) Di Acetate

Question Number : 198 Question Id : 7532296673 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

PPF-DA Ts-3T fArdieoly (ar-Rages) araElt § S 39anT 39 a1 fEgs (I A0 Hrafee)
& &7 # fFar ST €1 S8 U1 §9 #4787

Options :

| Poly(Propene Fumarate) Di Acrylate [aTelr (S FEARE) ST% Ufshere]

, » Poly(Propene Furan) Di Acrylate [aTelr (9T F) ST8 Ufeheie]



, » Poly(Propelene Fumarate) Di Acrylate [qTeT (Sie FOFE) 318 Uisheic)

, x Poly(Propelene Furan) Di Acetate [aTer (STl Fe) 319 TER]

Question Number : 199 Question Id : 7532296674 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following drugs is an antihistamine?
Options :

| % Equanil

7 « Terfenadine
3 % Histamine
4 % Sulphanilamide

Question Number : 199 Question Id : 7532296674 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

afafRa § ¥ Fi9-9r o1 REET o 32

Options :
I.W‘E’ iHetel
2.% IEATE

, « REfEE



4« TOHIAATHES

Question Number : 200 Question Id : 7532296675 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT a tranquillizer?
Options :

| % Chlordiazepoxide

, % Meprobamate
5 % Equanil

4.« Ranitidine

Question Number : 200 Question Id : 7532296675 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

F=RRT 7 O FiF T guas (EFaarEan) 78 27

Options :




